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Max. Marks: 50

Time: 03:00 Hours

Note : ATTEMPT ANY FIVE QUESTIONS

All questions carry equal marks. -
Assume suitable missing data, if any.

QL. 'Examine the different types of organizaﬁonal problems faced by
d for solving them.

managers. State the types of decisions require
: [10] [CO 1]

ory jobonan assigned project. Explain

Q2. Anemployee does an unsatisfact
s manager will use to form judgments

the attribution process that this person’

about this employee’s job performance. [10] [CO 2]
Q3. ‘Organisational politics is an obvious phenomenon.” Discuss the
[10] [CO 4]

factors responsible for politics in organization.

“For every worker, there is one best motivational

Q4. Pawan argues,
»_ Sara responds, “Nonsense- there is

application to drive performance

no best way to motivate anyone”. Who is correct? Explain.
[10][CO 2]

Q5. Imagine that you have been as a Leader of a project and you are

preparing for the first meeting, identify important actions you could take to
help to set a positive influence an the team members. [10] [CO3]




QY

afew SAP human resources
--experience across t

..~activities-and discussions we
.check- (MYPC) was conducte
_ its operations well.

1. "Do you think going with the ide

es aut d vehicle part
joning of manu ions, 1t

IT operations:

decided how thi
ew suggestions that

IT company,
these ideas

s manufactur
the core funct
t SAP in its

Q6. Impetus solution
Cleveland. To increase
has decided to implemen
carried out in India. T he top management
come into existence. Discussions were carrie
came up were of outsourcing the SAP operation
separate dedicated team in the organization. Pros a
were evaluated and the result was a separate teafm: :
As the company is now entering into its SAP operations, it requires good
quality of SAP HR, 5O that'é,separa'te’wbrk tearn. is put into place. It has hjred_
nan’ | .5 who -have around -four to- five 'years of

ointed a separate leader to manage
f the manufacturing team should
ledge is there among
ss- functional team were put into
The top management decided to
ination was carried over
d functioning, and all the
year progress
performing

s to another
nd cons of

he locations. It also app
bers 0

all the: SAP resources. A few mem
r business know

also be involved into it, sO that prope
the team members. A virtual team and cro
existence by hiring distributed workplace.
start with the functioning of the SAP team. Coord

the teleconferences over the AT&T. The team starte
re carried out virtually. A mid-

d, which found that the team was

Questions:
ct? Discuss

a of virtual teams was corre

‘ the complexities of a virtual team.
2. . What other alternatives could you suggest to implement SAP
[10 [CO 1]

. operations in the company?
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MBAFM-213 Investmen
Max. Marks:50

Time: 3:00 Hours

Note :Answer any three of que
Question & Is compulsory
Marks are indicated along with each question.
Assuma suitable missing data, )f any.

stion no. 1,2, 3 & 4.

Q.1 a) What is an Investment Strategy? Discuss some of the common

investment strategies followed by investors. (CO3) (5 Marks)

b) Explain the protective covenants included in the indenture

agreement? (CO4)  (5Marks)

Q.2 a) Write a short note on credit rating of corporates. (CO4) (5 Marks)

b) Explain termn structure of interest rates. Explain how it varies with
varying economic environment. (C0O2) (5 Marks)

Q} a) What is hedging? What are the risks that organisation can control

using hedging? (CO5) (5 Marks)

b) Briefly explain the risks faced by investment ba

b)Key Financials for three companies is given below. Based on the
data, calculate the key relative valuation ratios of P/E, P/B and
EV/EBITDA_and rank the companies based on the ratios. Which is the
most appropriate ratio to compare the companies. (CO1) (5 Marks)

P.T.O.

' . nks? (CO5)(5 Marks)
Q.4 a)Explain corporate actions and its impact on stock prices. (CO1)(5 Marks)
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& 76 {Unit INRcr, except mentloned if any) A B c
Sales 20000 [ 14000 60(;2
EBITDA Margin (%) 20 25 .
PAT Margin (%) 10 12 :
’ ‘Return on Equity (%) 15 30
Deht 100 300 100
Interest Cost (%) 8 9 7
Cash 50 40 . g
Outstanding Shares (Cr) 1.5 2 4.0
Dividend Per Share 100 60
Dividend Yield (%) 0.8 0.6 0.3
Q.5Answer True or False with brief explanation. (2 Marks each)

‘. Bottom-up investing involves buying up stocks in particular

economic sectors. (CO3)

b. Movirg average is a lagging indicator of price trend. (con

¢. Current yield and Yield to Maturity for a bond are equal. (CO2)

d. The only risk associated with owning a bond is that the issuer will

. not make all the payments. (CO2)

. e. Credit spread is the spread between coupon rate and yield on bond.
“(CO2)

f. Valuation through EV/EBITDA does not take into account the

‘capital structure of the company. (Col)

g Companies conducting overseas capital market issues are not

subject to foreign exchange risk, as they typically deal in their home

currency. (CO3)
h. Credit ratings are a static measure of credit worthiness and do not
change over time. (CO4)
i. Bond rating measures the risk of fluctuations in a bond’s value
- ~~resulting from interest rate changes. (CO4)
J. Credit risk is the risk associated with potential losses from changes
- .in market prices, such as stock or commodity prices. (C0O2)

END
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bttcmpt any FIVE questions. All questions carry equal
marks. Assume suitable missing data, if any.

Juestion 1. Using suitable examples discuss how companies
1ave created profitable business models catering to the people -
vho are living at the subsistence levels. (10 Marks) Cc0O-1,5,6

Question 2. Discuss the role of various entities in the Satyam’s
fraud. Whom do you think is the key culprit in the scam. Justify
your answer with details. (10 Marks) CO-2,3,4,5,6

) Question 3. Discuss how would you handle situations where
your personal values' conflict with your professional
responsibilities? Also explain the concepts of Values and Ethics.

(10 Marks) CO-1,3

Question 4. CSR provisions stated in Companies Act 2013
;I(lja(.:l:ls '(1:t mandgtory for corporates to spend part of their profit on
o an'c;\elses and issues of larger social interest. Explain which
v Pdi S are under‘ the purview o'f the mandatory provision.

O discuss how to identify the activities where the CSR fund

could be spent? . (10 Marks) CO-2,3,5
: | |
| S);lesﬁon S. Elucidate the concept of an independent director, its
: > s In a company as a conscious keeper for corporate
u governance. (10 Marks) CO-1,2,3,4

" | S P-TCo
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298 Qu"es.tion’ 6. Explain the economic rationale for deciding CEO
salaries in a country like India. What could be the possible
parameters to ascertain the salaries? (10 Marks) CO-1,5,6

Question 7. Explain how a company’s activities can be
categorized in the triple bottom-line measures. Discuss the

concept of triple bottom-line using a company's case study.
(10 Marks) Cc0-1,3,5,6
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MBAMK 215 Product and Brand Management
Time: 3:00 Hours Max. Marks: 50

Note : Answer ALL questions.
_ All questions carry gqual marks.” .."
Assume suitable missing data, if any.

Q1. Go through the case and answer the questions that follow:

ABC Ltd. is world’s leading Ayurvedic and Natural Health Care company
with a heritage of over 150 years. The company is at a threshold of
opportunities provided by a growing market of Indian consumers who are
becoming health conscious and buying health supplements for better health.
At a time when more and more Indians are looking for such products to
protect their health, the company wondered if it should enter the nutraceutical
product market specifically the health gummy/candy market as part of its
brand expansion strategy.

a) Should this new product be an extension of the company's famous parent

brand or a new brand name? Why/Why not? (CO5) (5 Marks)
b) What should be the segmentation and targeting strategies of the brand for
the product? (CO2) (5 Marks)

Q2. Kotler’s Product Level model helps businesses adapt to a wide range of
customers whose preferences often change. Explain the different product
lev;ls with the help of an example. How car this model be beneficial for
businesses in real life while launching a new product?

(CO1, CO2) (10 Marks)
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brands but at

:?m Q3. Online communities generate buzz and engﬂgcmte"::rftg:ning to brand.
times they may become harbour f’or.ncgnuvc contclnc fdefault strategy for

Therefore, building a ‘brand commumty" s.hould not b s gy products.

branding but can be a useful micro tactic in some case  community useful

What are brand communities? When is bun[dlvng.a:;?:aging? Explain with

S;)(ra:n:)l:;nd’ when is it pointless, and when is it (€03, CO4) (10 Marks)

=10 Marks)
Q4. Write short notes on any two: (CO3, CO 4, CO5) (5X2=1

a) Brand Personality
b) Brand Equity
¢) Brand Loyalty

Q5. Differentiate between: (any two) (CO4, CO5) . (5X2=10 Marks)

a) Advertising and Sales Promotion
b) Brand Positioning and Brand Image )
¢) Tangible and Intangible Elements of Brand Identity

-END-




‘-u.....muﬂﬁl‘l:‘ﬂtikﬁﬂl“ﬁ;mmﬁ‘ .
y .
) Total no. of Pages:02

}Ioll NO.esisessssoses
o]

NOV/DEC-2023

.3 SEMESTER
MRA

-

_END TERM EXAMINATION
plied Business Analytics and Intelligence
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J MBA 205 - Ap
Time: 03:00 Hours Max. Marks: 50
E Note : Question 1 and 2 are mandatory. Choose 1 guestion
from Q3 and Q4. Assume sultable missing data, if any.

g
: Q.1 l‘ablc Name — S_TUDENT

) :
‘ Student 1d | Student Name | Marks |, Subject
J , 1 | Akbar 10 | Marketin
2 | Birbal il 20 | Marketing
) - 3| ChandraGupta 30 | DBMS
4 | Dhritrashtra 40 | DBMS
) 5| Eklavya 50 | DBMS
6 | Fanish . 60 | Finance
) . 7 | Ganesh 70 | Finance
? [a] Write a query and its output to select students and their marks
’ who scored more than the average of all students. [10][CO#4]
[b] Wrong entry done during inserting the record. ChandraGupta
’ : should have space and he scored 35 in DBMS. Write a query to
update the name “ChandraGupta” to “Chandra Gupta” and mark 30
' to 35. | [10][CO#4]
> Q.2A pk'larmaceutical company is developing a new drug, and the research
Feam claims that the average recovery time for patients using the new drug
) : . IS less than _the current standard treatment, which has an averagé recovery
tlm.e of 10 days. To test this claim, a sample of 50 patiénts‘ is takén, and
} : their recovery times are recorded. The sample mean recovéfy time is f’ound |
to be 9.2 days with a standard deviation of 2.5 days. - :
} N .
)




ternative hypothesis
[5][CO#2]

[b] Calculate the test statistic (Z) for this hypothcsm test without using, the
Z table, considering a qlgmf'umc.e ‘level of 0.05. At a 0.05 s:g"lf“ﬂ"Ce
level, decide whether to reject the null ‘hypothesis. [15][CO#3]

[n] State this scenario's null hypothesis (H0) and the al
(H1).

ns could be

Q. 3 Provide a real-world scenario whcrc MarkOV Chai
[10][COH1]

eﬂ"ct.tlvcly used for decision- makmg
: OR
Q..4 What is supetvised learnmg? Please provnde an exam
- can be applied in a business ¢ontext. .

ple of how it -
[IOJ[CO#Z
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MBA-107 Marketing Management
Max. Marks: 50

Note: Attempt any Five questions.

All questions carry equal marks.

1

¢ e

. Attempt any two of the following:

a). Donald E. Petersen, chairman of the board of Ford Motor Company,
remarked, “If we aren't customer-driven, our cars won’t be either.” To
which marketing philosophy, would you relate this statement? {CO1}

b). “Half of the amount spent on advertisement is waste, but we don’t know
which half’, Comment. {COl1}

c). What are the five-six emerging trends which you think are going to
dominate the marketing landscape in next couple of years? {CO2}

. Nestle India’s Foray into Millets Based Category

I\.Iestle India, a Swiss multinational, has recently extended its brand a+ into
millets based Ready to Make (RTM) market. The company has introduced
at+ masala (spice) millets containing bajra (pearl millet) in the select market
Of.NCR and online. The brand extension is in line with the GOI emphasis on
?;Lletstas a sustainable 'food option. The brand is offered in two variants:
. ai{ictlmat.o and Veggie ma.sala. The multi serve pack of 240 gm is offered
el Tl]:omt ofRs..l 75 while tbe single unit pack of 40 gm is available at

-2Y. 1he at+ promises to be rich with high fibre, lower calorie and free

fr | :
om added preservatives developed to deliver both taste and health bernefits.

tccinlir::(:la: Institute of Mchts‘Rcsearch (IIMR) has_provfded the recj‘uisité
upport to develop the product. Both Nestle and IIMR  are very

excited about the millets as '
" . as a superfood and its abili i i
nutritional benefits to the CONsumers.- . el fis

a). De i i
o fe‘élel-;l; ?hsmtable segment profile/ persona of the customers whom do
e best target market for this kind of products. {C02}

b A .
)- How would you position such a brand? {CO2}

i ez
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- e - EY ST R ST S




A B A R A

ts of promotional mix in terms ofq
evelop suitable Integrated@

Ro Y 3.Classify and describe different elemen
e the Bharat Atta (wheat

earned media, owned media and paid media. D

Marketing Commt{nicqtion cm,n,pai'gn_ to promote U ras ' ¢

flour) launched by Government of Tndia 4t a subsidized price of 27.50 per %
(CO1,2}

kg.

4. a) Differentiate between bfand extension and product extension b).' giving an%
example from FMCG industry. What are the risks associated with product
extension? . c {CO2} @

b) What are the stages of Product Life Cycle? What strat
to use fora brand which in your opinion is in the maturity

egy would you like
stage of PLC?
{CO1} -

5. What do you understand by.‘omﬁicha'nnei"? What aré its advantages- ."andﬁ
disadvantages? Bxplain the brand which you consider is close to your

perception/ idea of omnichannel. } {CO1 }ﬁ
6.“Write short note on any two of the following:
a). Psychological priéing {CO 2}ai
'“b).':I:Iiche marketing ' {co2}g
c). 4Cs of marketing {CO1} )

v
¢
-
{
¢
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COURSE CODE MBA HR213 70),--
COMPENSATION MANAGEMENT

' Time: 03:00 Hours Max. Marks: 50f F
Note:. All_ questions carry equal marks Attempt any 5 questions rom the
following ; ,

Q.1 “Human Resource Department plays a crucial role in Wage and

: Salary administration of a firm”-Critically Evaluate the Statement.
Discuss the factors respon31ble in deciding the Salary & Wage of an

' ' organization. ' : [10][CO2 4]

' Q.2 You have just been employed as an HR manager "in a new
organization. You are directed with the task of evaluating the
existing jobs in that organization. Recommend two methods you
would use to fulfil the Job Evaluation process. [10][CO5]

Q.3 Discuss the various steps involved in Compensation dashboard
creation with appropriate metrics. [10][CO3,4]

i Q.4 The Managers of compensation and benefits play vital role in
determining key aspects of decisions taken during strategy creation
On compensation in a company. The key premise is that the way

employees are compensated can be a source of sustainable
) competitive advantage. Two alternative approaches namely “best-fit
approach and “best practices” approach are common and applied by
compensation and benefits managers in their decision-making on
strategy creation on compensation. Based on the above scenario,

) analyse the approach your company uses to pay staff. Infer its
. compensation strategy using five issues (objectives, alignment,
) competitiveness, employee considerations and management

[10][CO1,4]




a core function of the HR départment.

Q.5 Compcnnntionvnmnagcmcnt is
explain the objectives of

?,,,G ~ With the help of an illustration,
compensation management in an organization (10][CO3]
an informal way rather than an

Q6. “Fringe benefits are normally used as

ethical motivation in an organization- Critically evaluate

[10](CO2]

{
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COURSE CODE MBA HR213 3 09_

COMPENSATION MANAGEMENT
Max. Marks: 50

y equal marks. Attempt any 5 questions from the

Time: 03:00 Hours
Note: All questions cart

| following.

Q.1 “Human Resource Department plays a crucial role in Wage and
y administration of a firm”-Critically Evaluate the Statement.
in deciding the Salary & Wage of an

(10][CO2,4]

Salar
Discuss the factors responsible

organization.

Q.2 You have just been employed as an HR manager in a new
organization. You are directed with the task of evaluating the
existing jobs in that organization. Recommend two methods you
would use to fulfil the Job Evaluation process. [10]{CO5]

Q.3 Discuss the various steps involved in Compensation dashboard

creation with appropriate metrics. [10]tCO3;4]

Q.4 The Managers of compensation and benefits play vital role in
determining key aspects of decisions taken during strategy creation
on compensation in a company. The key premise is that the way
employees are compensated can be a source of sustainable
competitive advantage. Two alternative approaches namely “best-fit
approach and “best practices” approach are common and appﬁed by
compensation and benefits managers in their decision-making on
strategy creation on compensation. Based on the above scenario,
analyse the approach your company Uuses to pay staff. Infer its
compensation strategy using five issues (objectives, alignment,

competitiveness, employee considerations and management
[10][CO1,4]

# .
i
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Q.5 Compcnsnlioﬁ management is a core function of the HR department.

j 0‘9 With the help of an illustration, explain the objectives of
compensation management in an organization [10][CO3]

Q6. “Tringe benefits are normally used as an informal way rather than an

ethical motivation in an organization- Critically evaluate

[10]{CO2]
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Time: 3 Hours :
Attempt any FIVE questions. All quesflons carry eq
Earks. Assume suitable missing data, if any.

. - d
Question 1. Directors are appointed by the BODs. How far do

» i p:

the directors are appointed.

osed to call
Question 2. As a company Secretag, you are supp
an AGM. Discuss the various essentials of the AGM, you would

' ior 1 he
consider during the preparation, conduct and concluding t
g, ik (10 Marks) CO-1, 3, 4

meeting.

Question 3. Agreement with or by minor is void-ab-initio.

Evaluate the statement. Explain the legal rules regarding minor’s
agreements. (10 Marks) CO-1,2, 3

Qu‘ésﬁon 4. a) A- agrees to buy from B a certain horsfe. It turns
out that the horse was dead at the time of the bargain, though

‘neither party was aware of the fact. Is this a valid contract? State

the reasons also. , 8 o
b) X proposes, by letter, to sell a house to Y at a certain price.

What type of offer is this? (5*2=10 Marks) CO-2,4

Question 5. Rakesh wants to file a case against Turin Ltd. with
a total compensation of Rs. 55 lakhs (including the cost of the
goods). Discuss the Consumer redressal machinery under
Consumer Protection Act and guide Rakesh which forum or
commission to approach. (5*2=10 Marks) CO-2, 4, 5

pTo:




Question 6. Bxplain how

A Bill of exchange i8 different from a
ncept of a Negotiable Instrument..

Cheque. Also discuss the co
(10 Marks) CO-1, 4

Question 7. BExplain '‘Dominant’ position under Competition law.

teg as abuse of dominant position?

Also elucidate what constitu
(10 Marks) CO-3,5

Use suitable examples to justify.
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COURSE CODE: MBAHR 217

COURSE TITLE: STRATEGIC HUMAN RESOURCE MANAGEMENT

l Note: qu_e;stions are compulsory.

Assume suitable missing data, if any.

Q.2

Q.3

In a real-world scenario, a company has recently implemented a performance
management system, and employees are expressing dissatisfaction. Some
complain that the system is time-consuming and lacks clarity. How would
you address this situation as a performance management consultant?

[10 Marks] [CO5]

glraagl::i Z?nu are an HR‘ manager tasked vyi_th'conducting a needs assessment

- exI_mriemig prog;am ina !argc manufacturing company. The organization

A Crlg a l.v?.crr-:ast': in overall productivity and increased error rates

e popoct ion ine. A;?ply the three levels pfneeds_assessment to identify
potential underlying issues and propose suitable training interventions.
[10 Marks] [CO3 ]

You inin; ‘ 1ti :

i :;::etl:edtralmng mal:l'ager of a multinational corporation that has recently

Ap[; N t?,: Izi leader‘shlp development program for its mid-level managers
rkpatrick Model of Training ‘Evaluation to assess the

-effectiveness »
of the program and propose improvements at each level.

[10 Marks] [CO 1]




T T S ,

</2 Q.4 You are the HR manager ofa growing technology company- ITSC‘??::&?:Y B
is planning to implement a comprehensive strategy thatt.u'tc{ude.s’”t emg e I
. programs, performance management, and compensatlo'n adjus ntl Z m I

Explain the interrelationship among training, performance management, ank o

~..compensation, and provide a detailed plan on how these elements can wor

together to enhance employee development and organizational success.
[10 Marks] [CO 6]

g international company, you are
uman Resource Management
Explain the key components

Q.5 As the HR director of a rapidly expandin
tasked with implementing a Strategic H
(SHRM) approach using the multilevel model.
of the multilevel model in the context of your organization and outline the
steps you would take to apply this model for effective strategic human

{10Marks] [CO 2] e

resource management.

i

owing tech startup that specializes in
The company is facing chailenges
petitive edge in the industry.
trategic Human Resource

Q6 You are the HR manager of a fast-gr
developing innovativz software sclutions.
.in retaining top talent and maintaining a com
Apply the Resource-Based View (RBV) of S
Marnagement (SHRM) to analyze the situation and propose strategiec
resources for sustainable competitive advantage.

[10 Marks] [CO4]

J

_leverage the organization's
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- MBASC-221° SUPPLY CHAIN P‘LANNING AND EXECUTION .
. . ' ' ! ‘4 " .

e a Max. Marks: 50

Time: 03:00 Hours L : -
i ata, if any. ‘
I ote : Assume suitable missing data, an ‘ :
i Use of non-programmable scientific calculatodr ll-ls allowed.been —
' ‘ >ssi : iz nake deliveri€es, and-have never }
I. You are crossing an Indian state to ma , an g B
0 o i ¢ : the distance travelled as shor
before. You are using a rhap to try and make , ‘ 4 :
possible. There are 5 intermediate towns, A, B, C, D and E, you may gp_‘throug

g’

below. :
' Town | A | B | C | D | E | Destination |
Origin |40] 60|50 [ --- | --- — - Ex

4 | [10]—=]70]=] —

B 20(55|40 —

C — 150 .

D 10 60

£ 80

a) Draw the network diagram
b) Solve the problem optimally

- The ABC decided to order men’s shoes shown at a buyer’s meeting in Delhi.
The shoe will be part of the company’s winter promotion and will be sold
through nine retail stores. Because the shoe is designed for winter months, it
cannot be expected to sel] beyond the current season. So, 4BC plans to hold a

- special clearance sale at the end of season to dispose of unsold stock at sale

price of $30.

2]

Demand of shoes expressed in number of units follows,

)= <x<
fl) = {400, 300 =x <700

0, all other x _
The supplier manufactures shoes at $20 per unit and sells therm to ABC at $40

per unit. ABC retails the shoes for $60 a pair. [CO#2,3] [6]
- a) How many shoes should ABC order? = ' .

- .Page1of2 A




3y

. Bach unit of P is composed of one unit

T A R T e+~ o

b) What is the profit of ABC? : e ] 7 ; '
0)) If t;?e ’mm]\igmmrer and the ABC are vertically integrated (they arc a single

firm), how many shoes can be retailed? i

d) Whn)t is the supply chain profit when the manufacturer and AB? are a single
firm?

of O, 2 units of R, and 1 unit of S. R is

: ; -hand
composed of 2 units of § and 3 units of 7. items P, R, S and }{' hi;V:c%r;dhélll;d
inventories of 20, 10, 20 and 10 units, respectively. Item Q has ,

receipt of 10 units in period 1, and R has a scheduled receipt of 50 qr;tselnfizxsoc;
1. Lot-for-lot (LAL) lot sizing is used for items P and Q. Item £ red ™
minimum lot size of 50 units. S and 7" are required to' be purc:hased iy tlg ;S
of 100 and 50, respectively. Lead times are one period for items P, Q, and ci
and two periods for items S and 7. The gross requirements for £ are 20 1n perfo

2, 30 in period 5, and 40 in period 8. Find the planned- order releases for P, R,
Sand T. . ‘ ‘ [CO#1,2] [8]

ATTEMPT ANY THREE OF THE FOLLOWING

. What is the role of distribution network in supply chain? Elaborate on any one

of the design options highlighting its advantages and disadvantages.
' ‘ [CO#1,2,4] [4+6]

_ What is the difference between intermodal and multimodal transportatiox'
.Elaborate on the importance of outsourcing parties such as 3PL, 4PL etc. In

enhancing the effectiveness of transportation in a supply chain.
' [CO#2,4] [4+6]
What are the important components of supply chain cost? Elaborate on the

criticality of correct cost analysis in evaluating sourcing dpcisions. , :
Lt . [CO#3] [4+6]-

Writeshbi’tn'otes, RN ) R 3 [CO#1,2,3,4] [10]

a) ‘Sharing risks'through-buyb"acké
'b) Sales and operations planning
¢) Functions of logistics :

- .d) CPFR

Page 2 of 2
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MBAMK-213 CONSUMER BEHAVIOUR
Time: 03 Hours Max. Marks: 50

‘ Note: Answer Any Five Questions. Each question carries 10 Marks.
Assume suitable missing data, if any. o £t e sl

Use Case — A ;
Google is in advanced talks with Indian electronics manufacturer Dixon
TeClmologies as well as with Bharat FIH, an arm of Taiwan's Foxconn, to set 'up
production of its flagship smartphone Pixel-8 in India. Alphabet Inc's Chief
Executive Sundar Pichai announced that his company's first Made-in-India Pixel
devices will be rolled out in early 2024,
“Currently, our goal is to immerse Google researchers into Indian consurner lives
to uncover unarticulated desires that might not surface in any other form of
research and Google is emphasizing more on Primary Research in understanding
the behavior of Indian customers,” said, Sundar Pichai, Chief Executive,
Alphabet Inc. -
Experts Suggested that nowadays technology companies like IBM, Microsoft and
Hewlett Packard use anthropologist and ethnologist working alongside systems
engineers and software developers.
Based on the assumed Use Case — A. Answer Q-1- and Q-2-

_Q'l‘ Why Alphabet Inc. is emphasizing on Primary Research in understanding

the behavior of Indian customers? Explain with the support of suitable
€xamples. [10 Marks][CO1, CO2]
Q-2- %at benefits Alphabet Inc. will be achieving from creating and
Mmaintaining a ‘Community’ of Pixel-8 smartphone Indian loyal customers
in India? [10 Marks] [CO1, CO2, CO3]

pick.ed up and demand is al] year round nowadays," said, Rajiv Kumar, Vice
Chairman, Dha{ampal‘ Satyapal Group. “We understand the importance of
consumer behavior and. we are further learning the distinct behavior of northeast




for hotel additions in the
lized services to Indian

customers in the upcoming hotels and estab.lish Dharampal Satyaaalsa?cxi'm}l{paj?i
one of the premium Luxury Hotel in India in the next five ygars, ; <;rtfolio
Kumar, Vice Chairman, Dharampal Satyapal Grqu_p. The DS r.oup's PC bett
of hotels includes Thé Manu Maharani in Nainital; Nama}{ 1n .Jlm. 05 th
National Park; Radisson Blu hotel in Guwahati; Crowne Plaza in Jaipur; anc e

Holiday Inn Express in Kolkata. p
‘Based on the assumed Use Case — B. Answer Q-3- and Q-4- A"
Q-3- Why Dharampal Satyapal Group is gIving importance to ‘
Behavior’ for launching new Hotels in India? Explain with the (s)ulpp8330
suitable illustrations. [10 Mark$][C 5 < b]
Q-4 — Critically analyze and Briefly describe the probz_able beneﬁts g’au:xe y
Dharampal Satyapal Group for providing “personalized Services’ in the
upcoming premium Luxury Hotels in North-India?[10 Marks] [COI, C0O2, CO3]

and north India people, as we are looking at‘locations
northeast and north India. We wish to provide persona

Use Case — C- : .
Vietnamese Electric Vehicle (EV) maker VinFast Auto - a deemed ’ljesla nyal
that emerged as the world's third most valuable car maker last month-is mulling

setting up a manufacturing unit in India. The plant is likely to come up in either
~ T2mil Nadu or Guijrat. "The talks are in the preliminary stages, but VinFast Auto

is very keen on setting up a manufacturing unit in India," one of the official
person said. Founded in 2017, VinFast Auto Ltd. last month became the world'

third largest automaker by market capitalization behind Tesla and Toyota with a
valuation of $191 billion. VinFast Auto Ltd. is a Vietnam-based multinational
automotive company founded by Vin Group, one of the largest private
conglomerates in Vietnam, that was founded by Pham Nhat Vuong. “Knowing
Psychographic behavior is more important in today’s globalised world and
VinFast Auto will provide a customer centric EV in India,” said, Thuy Le, CEO,
VinFast Auto Ltd. VinFast is the only EV producer that offers a whole lineup of

~vehicles in every segment, from Mini-Cars to SUVs. “We will be launching EV-

SUVs in India very soon and currently we are looking for “Young Professionals’
for successfully launching VinFast EV business in India,” said, Thuy Le, CEO,
VinFast Auto Ltd.

"Based on the assumed Use Case — C. Answer Q-5- and Q-6-

Q-5- Why VinFast Auto Ltd. is giving importance to ‘Psychographic Behavior’
of Indian Customers? Explain with the support of suitable illustrations.

[10 Marks] [CO1, CO3]
Q-6- What probable suggestions you will give as a “Young Professional’ to Ms.
Thuy Le, CEO, VinFast Auto Ltd., for successfully launching EV-SUVs in
India? [10 Marks] [CO1, CO2, CO??
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END TERM EXAMINATION
MBASC-211 OPERATIONS ANALYTICS
Max Marks:50

Time: 3:00 HR

NOV/DEC-2023

NOTE: Answer any five questions. All questions carry equal

marks.
Assume suitable missing data if any.

Q1. An individual wishes to invest $5000 over the next year in two
types of investment: Investment A yields 5% and investment B yields
8%. Market research recommends an allocation of at least 25% in A
and at most 50% in B. Moreover, investment in A should be at least
half the investment in B. How should the fund be allocated to the two
investments? [CO1,2,3] [10]
Q2. There are 5 jobs A, B, C, D, and E. these five jobs are to be assigned
S workers 1,2,3,4, and 5. The processing time taken by each worker for
eac_h job is given below in the table. Write the LP model of the
assignment problem. Solve the following Assignment Problem so that
over all cycle time is minimum. Also find the total cycle time.

1 2 3 4 5
A 20 18 23 16 20
B 50 17 20 15 11
C 60 40 30 8 7
D 18 28 19 60 70
E 9 20 10 40 55
Solve the problem using Hungarian Method. [CO1,2,3][10]

gféeigcitder.tt}ﬁe transporta'tion problem in which two factories supply
g S with a commodity. The numbers of supply units available
: ources 1 and 2 are 200 and 300; those demanded at stores 1,2, and
th:rf; lt003200, and 50, respectively. Units may be transhipped among
. ctories an_d thﬁ: stores before reaching their final destinations. Find

€ optimal shipping schedule based on the unit costs in following

Table.
€ . ) [CO1,2,3,4]1[10]




W R
A B

LS

I'actory Store

| 2 | 2 2

e

1| %0 $0 $7 $8 .159
2| %0 $0 $5 $4 $3
1| $2 50 $5 $1
2
J

I'netory

Storo
$1 $5 1 $0 $4

58 $9 $7 $6 $0__

Q4. Solve the following problem.
Maximize 7 = 5X1 -+ 4X2
Subjected to

X1+ X255

10X +6X2 <45 v

X1 and X2 Non-Negative [ntegers o [CO-I ,.2,3,4] [1_0]
Q5. What do you understand by “Multiple criterion decision makfng
(MCDM)” techniques? Discuss the step-by-step app'roach of using
Analytic Hierarchy Process (AHP) Method for solving a problem.
Explain with the help of assumed suitable business scenario of your
choice. [CO1,2] [10]
Q6. (2) A company manufactures two products, radios and transistors,
which must be processed through assembly and finishing departments.

finishing can handle up to 72 hours

Assembly has 90 hours available,
of work. Manufacturing one radio requires 6 hours in assembly and 3
hours in finishing. Each transistor requires 3 hours in assembly and 6

hours in finishing. If profit is Rs. 120 per radio and Rs. 90 per transistor,
write the goal programming formulation of the problem for best

combination of radios and transistors to realize profit of Rs. 2,100.
[CO1,2,3] [6]

Q6. (b) In a simplex table,
(1) How you will find t
(ii) How you will find t

hat there are multiple solutions.
hat there is no solution of the problem.
[CO1,2,3] [4]

Q7. Write the short notes on any four of the following.

(i) Primal-Dual relationship

(i) Degeneracy in Transportation problem

(iii) PERT-CPM :

(iv) Sensitivity Analysis

(v) Vogel’s Approximation Method :

(vi) Gomory’s constraints [CO1,2,3,4] [10]

-END-
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COURSE CODE: ALS 2

COURSE TITLE: Action Learning Segment 11

Time: 3:00 Hours Max. Marks: 40

Note : All questions are compulsory.
Assume suitable missing data, if any.

Q.1 Zudox Ltd. is a fashion retail brand specializing in sustainable and
ethically produced clothing. The brand has a strong commitment to
environmental and social responsibility but is facing challenges in
effectively communicating its values to consumers. Apply the 7 P's of
marketing to suggest strategies for Zudox Ltd.. Consider how the
pr?duct, pricing, place, promotion, people, processes, and physical
ev1de-nce can be optimized to convey the brand's commitment to
Sustainability. Justify your recommendations based on the values of the
Farget market and the competitive landscape in the sustainable fashion
industry. [15][CO 3]

9.2 _Healthify is founded by a team of health enthusiasts who have
1dent'1ﬁed a gap in the market for personalized nutrition and fitness
solutl?ns. They aim to develop a comprehensive app that integrates meal
planning, workout routines, and real-time health tracking. Apply the
Lean Canvas model to assess the viability of this business concept.

[15][CO 2]
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ng (3A or 3B):
r of traditional home
and ovens, The company has a
ut is looking for ways to stay

yanging consumer electronics landscape.

Using the Ansoff’ Matrix, analyze potential growth strategies for Neon

Ltd. What options does the company have in terms of market and
product expansion? Provide specific recommendations for each quadrant
of the matrix, considering the challenges and opportunities in the
consumer electronics industry. [10][CO 1]

Q.3 Attempt any one of the followl
(3A) Neon Ltd. s o leading manuficture

such ns refrigerntors, washing machines,
g domestic morket b

appliances

strong presence in il
competitive in the rapidly cl

OR

(3.B) Comstars Ltd. is a global player in the automotive industry
primarily manufacturing traditional gasoliné-powered vehicles. In ligh;
of the growing demand for electric vehicles (EVs) and the increasin

emphasis on sustainable practices, Comstars Ltd. is evaluating itis;
strategic options. Use the Ansoff Matrix to propose potential growth
strategies for Comstars Ltd.. Analyse the opportunities and challenges in
each_quadrant of the matrix, providing specific recommendagtion‘
Consider factors such as the evolving automotive market, regulat y
trends, and consumer preferences in your analysis. EIOﬁCOOIri/
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J

Question 5 is compulsory
Marks are indicated along with each question.
Assume suitable missing data, if any.

Q.1 a) Write a short note on reasons for market failure. (COS5) (5 Marks)
b) In a perfectly competitive market, firms are often considered price
takers. How does this characteristic affect their ability to maximize
profits? What role does marginal cost play in profit maximization in
perfect competition? (CO4) (5Marks)
Q.2 a) Discuss the concept of price discrimination in the context of profit
maximization. How does a monopolist use price discrimination to
increase its profits, and what are the conditions that allow for
successful price discrimination strategies? Provide examples to
illustrate your points. (CO4) (5 Marks)
b) Discuss the concept of economies and diseconomies of scale in the
long run. What factors contribute to economies of scale, and how do
they affect a firm's cost structure and profitability? (CO3) (5 Marks)
Q.3 a) Discuss how firms can effectively practice price discrimination to
maximize profits while considering the reactions of competitors using the

game theory concept. (CO4) (5 Marks)
b) What are the implications of prisoner dilemma on pricing in
oligopolistic market structure? (CO4)(5 Marks)

Q.4 a) Consider a situation in which a popular streaming service decides
to introduce a new pricing model. The company offers different
subscription plans at varying price points, each providing a different level
of service and content access. Analyze the impact of this pricing strategy
on consumer surplus. Discuss how consumers with different preferences

and budget constraints might experience changes in their consumer
surplus. (CO3)(5 Marks)
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b) Consider & manufacturing company in {he clectronies industry that
experiences a sudden inerease in the price of a key raw material due to
geopolitical events. Analyze how this unexpected chango in input cosfg
might impact the company's short-run and lonp-tun cost curves.
Fusthermore, explore the strategic decisions the company might consider
in the long run, such as investments in new technologios or changies in
production processes, 10 adapt to the sustained increase in input costs.
{CO3) (5 Marks)

Q.SAnswer True ot False with brief explanation. (2 Marks cach)

a. In a competitive market, market cquilibrinm is achieved when the
quantity demanded cquals the quantity supplied, and there is no
tendency for prices or quantities to change. C
A technological advancement that reduces the cost of production for
a good will result in an inerease in supply, leading to a leftward shift
in the supply curve and a new market cquilibrium. (CO2)
¢. Constraints in economics refer to limitations and factors that restrict

the choices available to individuals and businesses, such as budget

constraints, time constraints, and technological ~constraints.
(con

. Opportunity cost is a measure of the monetary value of the next best

alternative forgone when making a decision, and it is always equal

1o the explicit cost incurred in the chosen course of action. (€Ol
. The concept of cross-price elasticity of demand implies that

substitute goods always have positive cross-price elasticities, but in

reality, there are instances where substitutes may exhibit negative
cross-price elasticities due to unique market dynamics and consumer
behavior. (CO2)

The Lerner Index, a measure of market power derived from

elasticity, suggests that a higher elasticity of demand invariably

leads to lower pricing power for firms, but in certain situations,
firms with higher elasticity might strategically manipulate prices,
challenging the straightforward correlation between elasticity and
market power. I (CO2)
g. The pr_inciple of transitivity, a key assumption in indifference curve
analysis, asserts that if a consumer prefers bundle A to bundle B and
bundle B to bundle C, then the consumer may not prefer bundle A
to bundle C. [ (CO2)

o

d

h

. The Consumer price

i For a firm oper

o B o

curiEs EZ

s fhe indifferencs ©F _
In the case of perfect substitutes, 1 f ; 1
accurie

typically lineat.  cpr, provides @@

Index (CFL) P %

jving indivi within 2 given

rcprcqcntmion of the cost of fiving for all lgd‘v;dua.pshicndifferc;‘ms_
r()unfry irrespective of income jev2ls or demoZ@

94 competitive market, :nzrgir.al.

leadingto 2 constant

ity of output sold.

ating in a perfectis
5 equal to the averaze revenue,

venue is alway
fe ¢ unit regardless of the quant

level of revenue pe

CO4)
( : END
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MBA201: STRATEGIC MANAGEMENT

Muax Marks: 50 J

Time: 3 Hours 3
ﬁ\!otc: All questions are compulsory, Assitme sultable missing data, if any,

Q1. Write True/False/ fill in the blanks/give short answers/choose best option as
[Each part: 1 Mark][10] [CO1, CO2, CO3, CO4, CO5]

per the question.
[i] A strategic vision constitutes management's view and conclusions about the

company's (a) long-term direction and what product-market-customer mix seems
optimal (b) justification of why the business will be 2 moneymaker (c) long-term
plan for outcompeting rivals and achieving a competitive advantage.

[ii] As per Porter’s Generic Competitive Strategies Framework, ‘Buyers do not care
[Differentiator Strategy/ Focused Cost

___________

about brand’ is a characteristic of

Strategy/Cost Leadership Strategy/ Focused Differentiator Strategy]
agenda [Options:

[iii] Strategic Alliances do not last long if they have -----------
Global/ Extractive/ Venturing/ Local/Pre-Defined Profit Sharing]
[iv] When strategies fail, it is often because of (a) poor execution of the s'trategy (b)
shortfalls exposed with the strategic management design process (c) inadequate
support for the management team responsible for the planning process.

[v] As per Ansoff’s ‘Market X Product Expansion’ matrix, the recommended

strategy for ‘Current Markets’ and ‘Current Products’ is =--=------=----.
[vi] The primary reasons that companies opt to expand into foreign markets are to:
(a) raise the entry barriers for industry newcomers, neutralize the bargaining power
of important suppliers (b) broaden their product lines, avoid tariffs and trade
restrictions, and escape dealing with strong labor unions (c¢) gain access to new
customers, achieve lower costs, enhance the company's competitiveness, capitalize
on core competencies, and spread business risk across a wider market base.

Page 10f 3
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[vii] The strategic opti
S options ¢ f $
relying on homeg cmn}\m(?nnmt::r expansion into foreign markets do not includ
Y governments to restrict imports via raising tariffs al:li T (a:
L S d loca

) ©s S SUDS oreign market (¢) err ploying
tent requirements (b) cs l\hllthllg a ﬁllhﬂld'm) ma cig

con! t. t , for 1

a hanchmng strategy using local owner Shlp © .

[ v SS 1§ low eSS for cost
viii] When the pressure fo loca spons
ol T al responsiveness is Ic and pressure f¢

reduction is ]Ilg‘l. the recomr wended strate, S(a ocalizatio b) Transnationa
2
() () g}’l\()LLIl.R” n (l) Tans O

[ix] While most ot i
her brands focused on innovating in women’s clothing, Bonobos

focused on men’s clothin which led to its success. The strate, adopted b
g hich 1 y
0 SucCess § 2 P Y

X] Bumble dating site where wor { Vi
[ ] ‘0 I tl. g site W \ women make first move turned out to be a diS!’Upﬁ (4
pr oduct innovation. Bumble can be said to have i

) o ot opted for a (ﬂ) Defensive Strategy

Q2. Explain any 3 of the following in brief:

[Each part: 5 Marks] [15] [CO1,C02,CO6]
[i] ‘Emergent Strategy’ concept given by Mintzberg with an illustrative example
[ii] Three approaches for competing internationally supported with examples
[iii] “Diversification’ strategic option with two examples
[iv] Any 3 Principal Offensive Strategy Options with examples

Q3. Assume you are manufacturing healthcare devices in India. One of your
successful prod}xcts is Air Purifier. The product is fragile. Use CAGE framework to
mn!f the fol]9wmg countries which you are considering for expansion: Bangladesh
Pakistan, China and Brazil. Explain with suitable reasons. [5] [COS]’

OR

"‘Successful' st:'ategy formulation is no guarantee for successful strategy
implementation” Do you agree or disagree with the statement? Support your
answer. i [5] [CO4]

Page 20f3
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Q4. Explain significance of Competitive Profile Matrix in the context of Strategic
Analysis. Based on your perception, preparc a competitive profile matrix for your
business school and its two major competing schools. Include six factors. Justify
weights given to any of the two factors. Justify ratings given to these factors across
the 3 B-Schools as per your understanding / assumption. Based on your analysis,
bring out two strategic recommendations for improving competitive position of .
your Business School (or chosen organization). [10] [CO1, CO02]
OR
(IFE) and External Factor Evaluation (EFE)
Matrices for your Business School. Include five factors. Justify weights given to
any of the two factors in IFE Matrix. Justify ratings given to these factors in IFE
matrix as per your understanding/ assumption. Based on your analysis, bring out
two strategic recommendations for improving competitive position of your B-
School.

Q5. Write short Notes on any fwo (Limit your answer to two pages for each part) :
[10] [CO2, CO6]

Prepare Internal Factor Evaluation

[i] Mckinsey’s 7 S Framework for introducing change in an organization with brief
explanation of any one Hard S and one Soft S

[ii] Key factors for success of a strategic alliance between two firms
[iii] Corporate Value Chain Analysis Framework by Porter
[iv] Components of Effective Strategy Implementation

Page3of3
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paid a dividend
ate of 25%

S 0 Growth Company just

dividend is expeceted to grow ‘
ata

then to level off to 5% P T peryear for the next 3 years and

! €T year forever. Ass 1 i
T X 3 - Assume that the appropriate market
Pltalization rate is 200, per year.

O Rs. 1 per share, The

(i) What is y. : —
/ L1S your estimate of the intrinsic value of a share of the stock?

il . ; .
(i1) If the market price of a share is cqual to this intrinsic value,

. what is the
expected dividend yield?

(i) “j'hal do you expect its price to be 1 year from now? Is the implied capital
gain consistent with your estimate of the dividend yield and the market
capitalization rate?

[CO2] [5 Marks]

Q.6 (A) Explain the basic assumptions on which technical analysis is based? How
it is different from fundamental analysis? Shed light on how moving average
indicators can help Traders in timing the market. [5 Marks]

(B) Here four industries and four forecasts for the macroeconomy. Match the
industry to the scenario in which it is likely to be the best performer. Explain
your answer with reasons.

Industry Economic Forecast

(2) House construction (i) Deep recession falling inflation,
interest rates, and GDP

(b) Health care (ii) Superheated economy, rapidly
rising GDP, increasing inflation and
interest rates

(c) Gold mining (iii) Healthy expansion, rising GDP,
mild inflation, low unemployment

(d) Steele production (iv) Stagflation, falling GDP, high
inflation

[CO2,3] [5 Marks]

Total No. of Pages: 4 RO MO e covve e vene
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COURSE CODE: MBAFM211 INVESTMENT MANAGEMENT

Time: 03 Hour Max. Marks: 50

Note: Attempt any 5 questions out of 6. J
Assume suitable missing data, if any.

Q.1(A) You have just come across a new dataset that enables you to compute
historical rate of returns on all Indian stocks listed in BSE since 1875. What are
the advantages and disadvantages in using these data to help estimate the
expected rate of return on Indian stocks over the coming years. [3 Marks]

(B) You have 50,000 to invest for the next year and are considering three
alternatives.

(i) A money market fund with an average maturity of 30 days offering a current
yield of 6% p.a.

(ii) A one year saving deposit at a bank offering a interest rate of 7.5%
(iii) A 20-year Indian G-Sec offering a yield to maturity of 9% per year.
[3 Marks]

(C) Suppose your expectations regarding the stock price of ABC Ltd. are as
follows: ’

State of the Probability | Ending Price (Rs.) | HPR (including
Market dividends)

Boom 1.35 140 44.5%

Normal growth .30 110 14.0%

Recession 35 80 -16.5% ]

Compute the mean and standard deviation of the HPR on stocks.

[COI1] [4 Marks] \ 4
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Q.2 (A) On Januan: 23

ﬁic ‘m\‘ :\mmr‘\ 2\\.\ 2014, Maruti Suzuki informe
; proposad plant in Gujarat will e mad
Japan, wather than by Maruti. Oy the date

r R12 of announe
by 812 percent, when Sensex fol) o cement

20,899.03). The beta of Maruti is 1.28. e

' Assume that

na other i i i

i Hmfom\atmn about Marutj (or the automobile
Y - How would you nterpret the reaction of the ma

d the stoe
¢ by Suzuki Mot

(B) “If the business cycle is predi

ctable, and a stock | ;
stock's returns also must be predict SR posilly

able.” Explain,

Q.3 (A) Ms. Smita is required to make

the following payment :
each year for next 6 years: e =

k exchanpes hat
ot Corporation of
» Maruti price el
to 20,721,117 hoints (from
anuary 28, there was
iudusuy) that reached
tket here? [6 Marks)

¢ beta, the
[CO1,2] (4 Marks)

Year W
1 26

2 20

3 17.25

4 16.05

5 19

6 18

She is planning to immunize his liability by investing in following Two
bonds:

Bond X: 11% coupon Bond of FV Rs. 1000/- maturing after 5 years
redeemable at 5%premium and currently traded at Rs.966.38/-

Bond Y: 13% coupon Bond of FV Rs.1000/- maturing after 3 years,
redeemable at 5% discount and currently traded at Rs.988.66/-

Answer the following questions:

a) If the interest rate is 12%, calculate the proportion of Funds to be

invested in Bonds X and Y, so that Ms. Smita’s payment is
immunized.

AL T YT LT TS TR
f‘

b) Afer one year if the interest rate changes to 14%, determine the
adjustment to be made, 30 that Ms. Smita’s portfolio remains
immunized, [6 Marks]

(I3) Assume that two firms issue bonds with the following characteristics.
Both bonds are issued at par,

ABC Bonds XYZ Bonds
Issue Size 1.2 billion (Rs.) 150 million (Rs.)
Maturity 10 years 20 years
Coupon 9% 10%
Collateral First mortgage General debenture
Callable Not callable In 10 years
Call price None 110
Sinking fund None Starting in 5 years

*Bond is extendable at the discretion of the bondholder for an additional 10 years

Ignoring the credit quality, identify four features of these issues that might account
for lower coupon on ABC debt. Explain. Which bond would be attractive for the

investors? [CO2,3][4 Marks]

Q.4 (A) Explain the Capital Asset Pricing Model (CAPM) and its assumptions.
How does CAPM help in estimating the expected return on an investment?

[S Marks]

(B) What is yield curve? Explain its significance for bond portfolio manager?
If pure expectation theory is correct, what does an upward sloping yield curve
implies? [CO2] (5 Marks]

Q5(4)

(i) A MF Corp. has an ROE of 16% and a plowback ratio of 50%. If the
coming year's earnings are expected to be Rs. 2 per share, at what price
will the stock sell? The market capitalization rate is 12%.

(ii) What price do you expect MF shares to sell for in 3 years??

[5 Marks]
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. taulter', ie. for the | indi o
el . e Iast colimn which indi
‘Edy to d’efnul?. Caleulate information gain with res 3 o g o
ucated’. Write steps for forming the tree A

' customer databage of a bank, A

clection measure)
her a customer is
Pect to only_the_first_attribute, i.c.
(CO2) 6 Marks

oy T ———————

Educated Annual [ Defanlter

Income

(e 10

Lakh)
T False Yes
T True Yes
T True Yes
T False No
T True Yes
F False No
F False No
F False No
T True No
T False No

[iifl Two B-Schools under same University are separately maintaining data in
excel files. It has been decided to now maintain data in the form of a single
database. What are the issues which are likely to be faced during data
.integration? Explain with illustrations. (CO3) 4 Marks

Q6.Write short notes on any two of the following: (CO1, CO4) 10Marks

(2) Any one approach used for the development of recommended systems

(b) Key data related issues during data Pre-Processing stage of a data mining project

(c) Social Media Network Analytics

(d) Naive-Bayes Algorithm

(e) Challenges in Text Mining

Page 4 of 4
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Max. Marks: 50

MBAAN211 Business Intelligenc

ry four:

Time: 3:00 Hours IS e AT k. A—zt'empf a
- , : h I¢ of .1 mari

: m T and Its.edch part'ls of 2 M2 ]

Note:Questlon 1'is comp _—UL"L‘:';%;—T;, “Assime sultable missing Fla!a, if any

Use of

from remalning flve qués
calculator s allowed, ..\ .

(CoT, €0z, C03) 10 Marks

. Q1. Fill in the blank/ choose correct option

i Entropy (2,9) i3 --------- Entropy (9,2) is:
(a) Sameas (b) less than(c) more than (d) none of these
: i iti arson’s
ii. If the Karl Pearson covariance between two variables is positive then the Kar Pe
Correlation between these variables is:

. : Bote
(a) Positive  (b) negative (c) can be positive or negative (d)less than covarianc

iii. If an itemset is frequent, then all of its subsets must alsobe  frequent. (True/F. alse)
iv.’A model has always only controllable variables as inputs.(True/False)

v. In the context of data pre-processing, the most appropriate activity whe.re Principle
Component  Analysis is applicable is: (a) Data reduction (b) Data transformation (c) Data

Cleaning (d) Data Integration

- vi. Logistics regression method for classification is: (a) linear (b) non linear (c) gives precise

results (d) unsupervised

vii. RMSE is a measure of : (a) how spread out the residual are (b) how concentrated is the
data around the line of best fit (c) accuracy of the model (d) all of these

viii. Big Data comprise : I(a) Structured data (b) Unstructured data (c) Both Structured and
unstructured

ix. The dimension hierarchies are the paths for (a) drilling down (b) rolling up analysis

(c) both

x. Which of the following calculates the association between one independent and one

dependent variable while keeping all other variables constant? (a) Rank correlation

coefficient (b) Kendall’s tau correlation (c) Multiple correlation (d) Partial correlation |y
o

Page1of4 ‘P
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Q2.[i] The following are sample tuples from employee database of 8 ganization:

Name Gender | Date | Joining | Skill | Experience [ Performance | Rank
of Date (years) Score
Birth

Bhupender | M 01- | 15-05- [Python|$S 85 ki

. 07- {2017

1992

Somya F 01- |12-08- R 3 80 5
09- |2019
1993

Specify attribute type for each attribute. Arrange the categories of attributes from weakest to

S0  strongest. Justify why inR language, data frame is suitable for storing this dataset and not
N the matrix. (CO3) 5 Marks

[ii] ‘What is meant by ‘Binning’. Suppose the data for analysis include the attribute
‘age’. The age values are:
16, 15, 13, 70, 52, 46, 40, 36, 35, 35, 35, 35, 45, 33, 33, 30, 25, 25, 25, 25, 22, 22, 21,
20, 20, 19, 16.

Use smoothening by bin boundaries to smooth these data, using a bin depth of 3.
(CO3) 5 Marks

Q3.[i] For six tourist places labelled T1, T2, ....T6. The likings of 5 Persons (P1, ..... ,P5)

are given in the following Table: . (CO2) 5 Marks

Tourist [T1|T2|T3|T4|T5|T6

Place/

Person

P1 110 |0 |1 |1 (O

P2 10 |1 |1 (|1 (1

P3 0|1 (10 ]|0]0

P4 1 (oo |1 |1 |0

P5 111 |0 |0 |O

Where aj = 1, if Person i likes Place j
=0, otherwise
Use Jaccard coefficient to find Person who is closest to person Ps.

Page 20f4

i items and entertainment by
[i1] The average monwly expenditure (in thousands) on grocery 1te s

10 individuals is as follows:

\w

\_
t;.

—
=]

Persons (represented by Person IDs) are grouped into 3 clusters: Cluster 1 = {1,5} ; Cluster
2=1{2,6,7,9, 10} ; Cluster 3 = {3, 4,8}. Consider a new Person who spends Rs. 15
Thousands each on grocery and entertainment. Use a suitable distance measure to degermine
to which cluster this new person belongs. (CO2) 5 Marks

Q4. [i] A sample sports items retail database has 5 transactions as shown below.

[Shopping | Bat | Wickets Pads | Gloves |Ball | Headgear
Basket

1 1 1 0 1] 0 0

2 1 0 1 0 1 1 |
3 0 |1 1 1 1 0 j
4 1 1 1 0 1 0

5 1 1 0 1 1 0 ]

Use Apriori method to find all the frequent patterns (Assume minsup =3).
(CO1) 6 Marks

[ii] Explain the difference between OLAP and OLTP using two examples.
(CO4) 2 Marks

(iii] Ilustrate any 2 diagnostics checks for Multiple Linear Regxess{on. 2
(CO1) 2 Marks

Page3of4d
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- Prepare 3
( ing information:

a) Raw materials

() oo o consumed

(<) Factory cost

(d) Cost of goods sold

(€) Net profit

[Marks 10 (3+7); cona, #5]

financial Statements:

® Mabharas i ini

. Bhan Cl;lt;‘;i:;rlﬂéls cxamlr.nng a request from DRL for long-term {inancing,
to DRE. ompany is considering the supply of raw materials on credit

® Arvind Shah js

Foxi thinking whether to invest his retirement benefits in DRL’s

Industry averages for illustrative purposes for selected ratios are given below:

Profit margin m
Asset turnover 1.7 times
Return on assets 7.4%
Return on equi 21%
Earnings per share 4.21
Current ratio 1.46
Quick ratio 1.12
Debt-to-equity 23
Interest coverage ratio | 4.13
Price-earnings ratio 27 times

Required :

1. Select two or three indicators that woul
Give reasons also.

2. Based on your analysis of the indicators, what would you recommend?
3. High current ratio may also indicate lower efficiency in assets utilisation. Do you
agree?

4. How is common size financial statement useful in analysis?

5.“The quality of analysis is dependent upon the quality of information depicted by the
financial statements.” Do you agree? :

d be most relevant to the three decision makers.

[Marks 10 (2*5); CO#3]

s o 0, 8 & 88

Total No. of pages: 4

END TERM EXAMINATION

Time: 3 Hours
Note: Q. 1s mandatory

Q.1

RON N0 cssvessrsssees

| SEMESTER
MBA

November-2023

MBA-105 Financial and Cost Accounting

Max. Marks: 50

Attempt any 4 questions from the rest.
All questions carry equal marks,
L/Assume suitable missing data, if any.

Pcninsular’rranspor( Company began its trucking operations on January 1, 20X9.
The company’s bank account showed a balance of Rs. 90,000 on December 31,
20X9, which was in agreement with the bank statement received on the same date.
The company had Rs. 6,000 in cash, in the office and Rs. 4,000 worth of cheques
received from customers.

On December 31, accounts receivable outstanding amounted to Rs. 300,000. The
company also had Rs. 30,000 worth of promissory notes, signed by the customers.
Employees had drawn festival advances, which were outstanding and amounted
to Rs. 6,000. Peninsular owed Rs. 3,60,000 to Southern Service Station as of
December 31, 20X9. During the year, the Peninsular purchased stationery and
office supplies costing Rs. 11,000, from Ramalinga &amp; Sons for cash. The use
of stationary and supplies during the year was estimated at Rs. 8,000. Peninsular
purchased eight trucks during the year, each costing Rs. 4,00,000. They owed Rs.

20,00,000 to Southern Sales and Finance at the end of the year, on account of the
trucks bought. The obligation was supported by a hire purchase agreement for the
payment, at the rate of Rs. 50,000 per month. Depreciation was at Rs. 80,000 per

truck for the year. Spare parts and tyres inventory amounted to Rs. 13,000.

The company had rented, on a 30 years lease, a garage, an office space and a

parking space at Rs. 1,00,000 a year, on the NH 47, within the city limits. Because

of the real estate boom, Peninsular could easily sublet the premises for Rs.

10,00,000 a year. On January 1,20X9, when Peninsular started operations, tenants

had paid the first two years’ rent in advance.

On December 31, 20X9, Peninsular purchased a car for office use, which cost Rs.

1,00,000. The insurance and registration cost amounted to Rs. 8,000. The

company had a bulk storage tank for diesel needed by its trucks. The tank was

filled on 4 occasions, with 50,000 liters each. On December 3 1, the meter reading
indicated that 1,80,000 liters had been used during the year. Average cost per liter
of diesel was Rs. 3.00. Peninsular paid the employees’ salary on the last day of
each month. A bonus for the employees was due, amounting to Rs. 2,12,000 for
the year 20X9, which will be paid along with the first salary in 20X0.

b



The’owners of Peninsular ori
20X9 was Rs. 2,08,000. Draw!
1,00,000.

Required:

O~ Prepare a balance sheet as of Decembe

gmally invested Rs. 6,00,000. , he nd income for
ings by the owners during the year amounted to Rs

r 31, 20X9, in a horizontal format. (No

M o N i
Jjournal entries required.) [Marks 10; CO#1,#3)

Q. 2 A com K imi i
msac‘i)annsy:, aushalya Infrastructures Limited entered into the following

(a) Cash received from customers.

(k) Converted debentures into equity
shares.
(1) Eamed a net profit.
(m) Paid bonus to its employees.
gn) Paid installments for the purchase of
(e) Issued equity shares at G eri

f) Received cash on mataunl"a:z f bill i ) Re‘l'!_ald e
() Coth pald v et ty of bills receivable. | (p) Retired a plant frorq use.

ppliers and vendors. (q) Sold patents at a gain.

(b) Purchased machinery.
(¢) Paid income tax'to government.
(d) Purchased a certificate of deposit.

L() Sold investments at a gain. (r) Received dividend.
(i) Issued debentures in exchange for equipment. | (s) . Made a down payment for the
purchase of furniture. .
(t) Paid interest on loans and debts.

\ () Received interest on short term investment.

You are required to:
1. Identify each transaction either as:
2‘1)) Operating activity, b) Investing activity, ) Financing activity, d) None of the
above.
II. Also, state whether the transaction results in: a) an increase in cash; b) a
decrease in cash, or ¢) no effect on cash. (prepare a neat table showing the above.)
II1. Explain the significance of cash flow statement to an investor
[Marks 10 (4+4+2); CO#3]
Q. 3 a) A highly profitable firm can have a bad cash flow statement and the other way
round — Do you agree to this statement? Discuss.
b) With Automation and Al Happening — are the days of Accountants numbered?
Give arguments. [Marks 10 (5+5); CO#1]

Q. 4.2) What do you mean by a2 trial balance? What- are its main uses? Why do you
prepare a trial balance?
b) In the trial balance given below, some accounts have been included in the wrong
column (debit or credit). As a result, the balance is not matching. You are required
to identify the accounts and balance it. You would also need to find out the
missing figure of retained earnings. '

it
Accounts
Cash

|Cash |
Salaries Payable

Taxes Payable
Accounts Receivable

[Invento
Capital Stock
Long-term Debt 340
Land 60
Buildings (net) 600
Other Assets 20
Accounts Payable
Dividends Payable 25
Retained Earnings peedd
Totals 900 1304
[Marks 10 (5+5); CO#2]
Q. 5. a) Mizoram Handicrafts Ltd. purchased machinery worth Rs. 1,25,000 from Goa
Filters Ltd. The payment was made as to Rs. 25,000 by way of a demand draft
and the remaining amount, by the issue of equity shares of Rs 10 each. Make
entries in the books of Mizoram Handicrafts Ltd.
b) Nachiket Ltd. purchased a machinery on April 1, 20X0, for Rs. 1,50,000. This
machinery had a useful life of 10 years and after that, the scrap will be Rs. 10,000.
Another machinery with a useful life of 8 years and with no salvage value was
purchased for Rs. 1,00,000 on April 1, 20XO0. Nachiket has its financial year
ending of March-end.
Prepare the machinery account (ledger) for 3 years, on the basis of:
(a) Straight Line method
(b) Written down value method if the rate of depreciation is 10% per annum.
[Marks 10 (3+7); CO#2, #3]
Q. 6. The following information has been obtained from the ABC corporation for the
period from June 1 to June 30.

—_— : "000°) | Credits (in Rs.000"
[ebits (n 000 73
9

70

Particulars [OnJunel (Rs.) | OnJune30 ®Rs) |
Cost of raw materials | 60,000 150,000

Cost of work-in-process 12,000 | 15,000 e
Cost of stock of finished goods 90,000 ] 1,10,000 o
Purchase of raw materials during June 4,380,000 J
2020

Wages paid 2,40,000 R
Factory overheads 1,00,000 |
Administration overheads (related to 50,000 J
production)

Selling &distribution overheads 25,000

Sales i 10,00,000

1. What is purpose of cost sheet for an organisation?
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Code - MBAFM-221 Project Appraisal and Finance

Time: 03:00 Hours Max. Marks: 50

Instructions: Altempt Any five questions. All questions carry equal marks.

Assume suitable missing data, if any.

QL. A team of engincers has created a new concept for transforming discarded
shipping containers into portable housing units and innovative office spaces. These
engineers, well-versed in structural design, arc enthusiastic about the architectural
aspects of their concept but have reservations about the technical feasibility of
converting shipping containers into functional living and ~working spaces. Given
specific assumptions about the product and market, conduct a technical evaluation
of the proposal and provide guidance to these aspiring entrepreneurs on whether
they should pursue this venture. ,
[10M] [CO1]
Q2. a) List the key criteria that a corporate bank would analyze when evaluating a
project from both financial and economic angles before granting a loan. Specify

any necessary assumptions if applicable.

b) What is Simulation Analysis, and how does it differ from Sensitivity Analysis?

Which of these methods is considered more scientifically robust for project

appraisal?

[5+5=10M] [CO2]

1of2
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Q3. a) “Market analysis serves a8 the logical starting point for fensibility analy
is fundame

ol a project 18 ntally dependent on

because the cconomic toundation

product demand.™ Explain,

b) What is domestic Price Numeraire method and how it is used to estimatce?

i. A shadow exchange rate
i A shadow wage rate

[5+5=IOM| (CO2]
Q4. a) What 18 investment taking decision process for public sector project in India“
‘Social Impact Assessment’ for

b) What are the principles and the values of

sustainable development?

[5+5=10M] [CO2]

Q5. Why is commercial profitability not always an accurate indicator of social
approach measure social costs an

ed project?

(10M] {CO3]

beneiits. and how does the UNIDO d benetits in

relation to the aggregate consumption objective of a propos

Q6. a) Describe Simulation Analysis in details.
nflict for mutually exclusive projects.

b) Explain with examples NPV and IRR co
[5+5=10 M] [CO4]

Q7. Write short notes on any two.
a. Project selection under risk
b. Decision Tree Approach

c. Efficiency and Equity in project appraisal
[5+5=10M] [CO4]
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END TERM EXAMINATION "7 Nov-2023
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Time: 3:00 IR - e . ‘

- :Max Marks:50
NOTE: - . 4 e -
I Ans;'vc.:_"any Sive questions. All qhéﬁstions carry equal marks.
2. Statistical tables are allowed, LT AT
3 AsAsume‘s'xA'litable missing data if any.

Q1. Major cities ar_ound the world compete with each other in an effort
to attrac;ti new businesses. Some of the criteria that businesses use to
Judge cities as DPotential locations for their headquarters might include
t?le. labor pool; the environment, including work, governmental, and
11vmg; the tax structure, the availability of skilled/educated labor,
housing, education, medical care; and others. Suppose in a study done
several years ago, the city of Delhi received a mean rating of 3.51 (on
ascale of 1 to 5 and assuming an interval level of data) on housing, but
since that time, considerable residential building has occurred in the
Delhi area such that city leaders feel the mean might now be higher.
They hire a team of researchers to conduct a survey of businesses
around the world to determine how businesses now rate the city on
housing (and other variables). Sixty-one businesses take part in the new
survey, with a result that Delhi receives a mean response of 3.72 on
housing with a sample standard deviation of 0.65. Assuming that such
responses are normally distributed, test to determine if the mean
housing rating for the city of Atlanta by businesses has significantly
increased at 5% level of significance., [CO1,2,3][10]

Q2. According to data released by the ABC Pollution Control Board,
the mean PM2.5 (particulate matter) for the city XYZ, in 1999 was 46.
Suppose that because of efforts to improve air quality in XYZ,
increases in modernization, and efforts to establish environmental-
friendly businesses, city leaders believe rates of particulate matter in
XYZ have decreased. To.test this notion, they randomly sample 12 \ 4
‘readings over a one-year. period with the resulting readings shown N

L]



<~ below. Do these data
e\ readings are signific 1 [ signi
eadin evel of significance § the
MM city XYZ? Assume that followin. i i stibuted
g readings are normall listri
31 44 35 33 57T 47 3o 40 21 38 y5(3lS ““:;“ed

present enough evidence te

determine that p 5
antly less now ap S0; hat PM2.5

[CO1,2,3) [10]
Q3.‘ X is unifom‘tly distributed over a range of values from 8 to ﬁl.
(1) What 1s.the value of f (x) for this distribution?
(i1) D.e\e_rmme the mean and standard deviation of this
distribution.

(iil) Probability of (10<x<1 7

(v} Probability of (x>7) [CO1,2,3,4] [10]
Q4. (a) Prof. Mishra recorded the speeds of cars driving past his house,
where the speed limit read 20 mile;
recordings follow an approximatel
100 readings was 23.84 miles
3.56 miles per hour.

S per hour. Suppose that these
y normal distribution. The mean of
per hour, with a standard deviation of

@) What is the probability that a car goes with a speed of more
thar 25 mph?

(ii) What is the probability that a car goes with a speed of 17
mph or less? :

(b) A sample of five data entry clerks employed in Tax office revised
the following number of records: 73, 98, 60, 92, and 84. Find.the
mean, median, standard deviation, and coefficient of skewness using
Pearson’s method. .[CO1,2,3,4] [6+4]
Q5. Solve the following problem using simplex method.
Maximize Z = 5X1 +4X2 - it 3 -
Subjected to - o e

“XI+X2<5
10X1 + 6X2 <45
X1,X2>=0 [CO2,3]1[10]
20f2

Q6. There are 5 jobs A, B, C, D, and E. these five jobs are to be assigned
5 workers 1,2,3,4, and 5. The processing time taken by each worker for
each job is given below in the tablc:a. Writf: the LP model of the
assignment problem. Solve the following Assignment Pro}:lem so that
over all cycle time is minimum. Also find the total cycle time.

] [2 13 {4 15 1
[rA i 11 117 18 116 trzc ]
B 9 17 112 3 115 |
C 113 116 |i5 {12 116 4
D [21 24 17 128 ;26 i
[E | 110 112 111 113 B\
Solve the problem using Hungarian Method. [C0O1,2,31110]

Q7. Write the short notes on any four of the follc')wir_lg.
(i) Multiple Solution both in graphical and simpiex method
(ii) Degeneracy in Transportation problem
(iii) Poisson Distribution
(iv) Binomial Distribution
(v) Simple Linear Regression

(vi) Non-Parametric Testing [CO12,31 (10}

3 of 2
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MBAAN-213 Data Analytics in Finance v

3 Time: 03:00 Hours Max. Marks: 50

Note i Attempt Four questions; Q. 1iIsimandatory
" AssUma SUItabI Mmigsing datd; it ary:

b Q 1 Suppose Bank nifty is trading at 43500. Today is Expiry. What trade
F ‘ may take you to do in case your view is
A a) Bank Nifty may expire at 43500
i b) Bank Nifty may expire at above 43800
c) Bank Nifty may expire below 43200 »
] d) Bank Nifty may expire between 43200 and 43 800
Explain the risk and reward involved in each case
] [20 Marks][CO#4]

Q.2 What are the advantages and disadvantages of an option seller?
[10 Marks][CO#2]

.7

>

Q.3 What are the advantages and disadvantages of an option buyer

[10 Marks][CO#2]

. . Q.4 Discuss Black-Scholes model [10 Marks][CO#3]
y) 7 T | - : 4
Q.5 What are the similarities and differences between trading and :

F’ gambling? In your view, is trading gambling? [10 Marks][CO#1]
2
B

' |
| |
|
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COURSE CODE MBAHR211
COURSE TITLE Industrial Relation & Labor Legislation

Time: 03:00 Hoﬁrs , A Max. Marks:-50
Note : ATTEMPT/ANY.FIVE QUESTIONS
3 “+ All questions carry gqqg',;ma(ks.
.. Assume sultable.missing data, if any.

| relations in

Q.1 Bring out clearly the nature, scope and importance of industria
' [10] [CO1]

the context of the present-day industrial set up.

Q.2 What is meant by retrenchment? Discuss the conditions precedent to

retrenchment of workmen as provided in the Industrial Dispute Act, 1947.
: - % : [10][CO2]

Q.3 Examine various schemes of employee participation in management in India.

Discuss in detail the objectives and functions of joint councils and shop

P e P E e o o

“councils. > [10] [CO3]
Q.4 Discuss the nature of industrial conflicts. What measures would you suggest
for the attainment of industrial peace in the country? [10] [CO4]

Q.5 What is wage period? By what tihé the wages should be paid, under the
"' Payment.of Wages Act? What is the maximum extent to which deductions
“can be made in a particular wage period under Section 3 of the Act?

_ SRR e L g iz [10}[CO1]
Q.6 Sheila took het maternity Teave but forgot to let her employer know her -
intention to return’to vork. She thouglit her employer knew she was returning
'since’she called into work about 2 months-before and was sure she told them she
would be coming back. When she did return however, her employer told her that
she had been replaced and refused to take her back. The employer said the proper
written notice of the intention to return had not been given in writing. Sheila was
very upset but what are her rights? Elucidate with reference to The Maternity
benefit Act,1961. ' o [10][CO 4]

=
=
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COURSE CODE - EMK-01

— INTERNATIONAL MARKETING MANAGEMENT

COURSE TITLE Max. Marks.' 50

Time: 03 Hours

Assume suitable missing data, if any.

Note: Answer Any Five Questions. Each question carries 10 Marks.

Use Case — A : et
Haathi Chaap was founded in Delhi by entrepreneur Mahima Mehra anq her bus:neésef:]any
Vijendra Shekhawat in 2003. For the first four years, they exported their paper to ) in'
In 2007, it was launched in India. Haathi Chaap is a brand of .paper @an?facnll]re -
Rajasthan, India, out of elephant dung. The name comes from 'Haathi', meaning Elep ta:il In
‘Hindi’ and 'Chaap' which means 'Press' or 'Imprint'. Experts suggested that elephant dung
paper was probably first made in Thailand.

“Currently, We are customizing marketing mix for launching ‘Haathi Chaap’ in Jap?_m (--as
Japan is a quality conscious and culture sensitive market..) and We are also looking for
‘Advisors® for guiding us in entering the United States market in the Signature-Elephant
Style” said, Vijendra, Founder.

We make one of the most regenerative papers in the world. It's 100% natural, chemical-free,
and doesn't require a single tree to be cut down. We’re also passionate about employing local
underprivileged women. Providing them with opportunities and the means to support their
families helps the whole community, and we can all look forward to a better future together.
Our Products are Notepads, Wine and Gifts Bags, Coasters, etc.

Based on the assumed Use Case — A. Answer Q-1- and Q-2-

Q-1- Critically analyze and briefly describe why the founders are customizing ‘Marketing
Mix’ for launching ‘Haathi Chaap’ products in the Japanese market?
[10 Marks] [CO1, CO2, CO4]
Q-2- What suggestions you will give as an ‘Advisor’ to Mr. Vijendra Shekhawat, Founder,
for successfully entering the United States market with the various products of ‘Haathi
Chaap’? (10 Marks] [COl, CO2, CO3]

Use Case — B-

Vellvette Lifestyle Pvt. Ltd., which owns and operates beauty brand Sugar Cosmetics, has
entered into a joint venture with actor Kareena Kapoor Khan for its skincare brand Quench
Botanics. “We want to bring Sugar Cosmetics products and services to the new women
customers putting up at Tier2 and Tier3 locations of India and Moreover, Sugar Cosmetics
will be launching products in the huge African Market in next two years, as we are working
on the international ‘African-Market Strategy’ with Redseer Strategy Consultants," Vineeta
Singh, Co-founder & CEO, Sugar Cosmetics, said in an interview.
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oloured cosmetics such as Lipstilc;k;, Eﬁ: Sha:oa\;/ Eti];l;s, and "
It competes with (local and intemnational) brands such . akme anq |
r?dr:;g::ll?:: ceQnJZI‘Sch’s poﬁl:'olio, on the other hand, focuses on creag;,cskm l.;(atCl:les and m%\m
serums or more skin care products. India’s Beauty anq Pf:rsonal Care ( )ﬁx]nasr et is set to %
touch $30 billion by 2027, consulting firm RedSeer sn.xd ina repqrt la‘st'mon : lugar starteq e rﬂq
out as a direct-to-consumer beauty brand in 2015. Online sales asolde, it is currently presem': at\! M
more- than -45,000 retail points across 550 cities. It draws 50% of its sales from online By~

i
commerce.
Based on the assumed Use Case — B. Answer Q-3- and Q-4-

. ‘._'\
-3- d Design a marketing plan for successfully launc'hmg Sugar Cosmetics ‘g
O s £ 5 putting up at Tier2 and Tier3 locations of India, %

roducts for new women customers
Fvith the support of suitable illustrations. [10 Marks][CO2, CO3, CO4] -
)

Brand Sugar largely sells ¢

e You are the representative of Redseer Strategy Consultants and You have to . ,i‘
to Ms. Vineeta Singh, Co-founder & CEO, Sugar Cosmetics forGﬁ*

d Personal Care products in South Africa Market, in today’s f
[10 Marks] [CO1, CO2, CO4]fauis
’ P

L

Q-4 — Suppos
provide suitable suggestions

launching various Beauty an
* highly competitive business environment.

Use Case—C —

- Mumibai-based boAt manufacturers most of its devich in India through a joint venture with@
Noida-based Dixon Technologies. It has already attained 20-25% local value addition. boAt ~ &y

. .is known. for its audio focused electronic gadgets like Wireless Speakers, Earbuds, Wired ﬁ,“mi

: «We-wish to take boAt innovative products to the people of ‘Mini-India’ in Canada an” -e

Co-Founder, boAt Lifestyle.
-Based.on the assumed Use Case — C. Answer Q-5- and Q-6- ‘ 7 l

. Q-5- Why boAt is looking for Strategic Partners for brining innovative products to th

and Wireless .Earphones and Headphones, Home Audio Equipment's, Premium Rugged 7
Cables and other Technological Accessories.

are looking for ‘Strategic Partners’ in this lox:)g joumney,” said Sameer Mehta, Co-Foun..r,
boAt Lifestyle. Earphones, Smart Watches, Air Pod, Bluetooth Speakers and Many more aregon

*the products through which boAt has touched consumer’s heart.

“We are also brainstorming between - Ethnocentric and Polycentric — Orientation Approach
~'may be adopted by boAt, on the international Canadian voyage, as we have requested 4 -
learned consultant Accenture to suggest feasible guidance for the same,” said Sameer Mehta, i

people of ‘Mini-India’ in Canada? [10 Marks] [CO1, CO2, CO3] '

Q-6- Which ‘Orientation Approach’ will be most beneficial for boAt on the propose
intermational Canadian voyage? Explain with suitable examples. :

[10 Marks] [CO1, CO2, CO4]gammrs
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END TERM EXAMINATION  NOV/DEC-2023

ESCMO02 INTERNATIONATL LOGISTICS MANAGEMENT

Time: 03:00 Honrs Max. Marks: 50
Note: Attempl any Five questions”. o gl
All questions satry sqilal marks, -
Assume siiitable missing data, if any. e b B,
Q.1 What are the inventory carrying cost and ordering cost and what are their

roles in inventory management? ‘ (10 Marks][COA4]
Q.2 How coordination can be used as an instrument of effective international

logistics management action? Discuss the various techniques through

which the coordination can be achieved? (10 Marks][CO5]
Q.3 Define Benchmarking? What are various kinds of challenges faced during

the process of Benchmarking? (10 Marks][CO6]
Q.4

What is Customer Profitability Analysis? Why it has gained importance in
the recent times. Is it ethical to deny a customer that is not profitable?

. [10 Marks][CO3]
Q.5 Explain briefly various contracts under Incoterms? Do you think that
arbitration is better than litigation? Discuss briefly.

, : _ [10 Marks][CO4]
Q.6 What is the difference between outsourcing and business process

outsourcing? What are the benefits of logistics outsourcing?

" [10 Marks][CO2]
Q.7 Write notes on the following:-

a) Artificial Intelligence
b) Integrated Logistics Services
c¢) E-Commerce

d) Supply Chain Models. [10 Marks][CO1]
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COURSE CODE EMK-04

COURSE TITLE Advertising and Brand Management

Time: 3:00 Hours Max. Marks : 50

tiote : Attempt any five questions.

All questions carry equal marks.
Assume suitable missing data, if any.

Q.1
a) Describe Media and Media Planning.
b) Briefly describe the evolution of media and list down media categories and
marketing channels.

[10 ]J[CO 1]
Q2
a) Provide a detailed account of the Media

Planning Framework describing its
key steps and processes.

b) Describe the challenges involved while crafting a Media Strategy

5 [10][CO 1]

a) Caps and Crown is a new entrepreneurial venture by Haifa, who has just

qualified as a dentist and has hired Joseph as a consultant for its Media and
Advertising. Refer to this case discussed in class and suggest how Joseph

should segment the dental market in the Bengaluru market

b) What mode of marketing communications should Joseph choose once the
segment is defined

[10][CO 1]




4)

(contd.)

Q4

a) Describe how Influencer marketing works in social media strategy with tw

examples.
b) Explain the role of social credibility and source effects in the context o

influencer marketing.

Q.5

In November 2018, Five Guys, a fast-casual burger and fries restaurant based i
the United States, faced an important decision regarding its future promotiona
strategy. Suggest an optimum promotional strategy highlighting the rationale fo

the suggested strategy component.
[10][CO 1]

assignments, pick anyone and explain the critica

Q.6 Out of the following project
media and advertising strategy.

issues in the project and suitable

a) Jack- Daniel RTD launch in India.

b) Transition of Air India Media strategy post-acquisition of the public secto

airlines by Tata
c) Media strategy for Marketing Coal
d) Promotion and Media strategy for milk variant A2

Q.7 Globally, the loyalty and Mobile Reward Industry is rising at unprecedented
rates. Referring to the Drop Technologies Inc. case, explain the following.

a) Paid advertising and Referral strategy used by Drop Technologies

b) How Drop Technologies used the influencer's marketing to increase

customer acquisition
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COURSE TITLE: Supply Chain Management & CRM
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issing dat ny

Q.1 (a? Disc?uss the. concgpf of supply chain and si;ppily chain management (SCM)
with suitable examples. How supply chain management is importance of survival
of an organization? [5] [CO1]

(b) Which are the critical decision-making areas in the supply chain? [5] [CO1]

Q-2 (a) “Distribution Channels not only meet customers’ needs but also provide
c.:ompetitive edge.” In view of this discuss the role played by distribution channels
in supply chain management. _ - [51[CO2]

(b) Discuss the Strategic Importance of Logistics/Supply Chain Network Design
. » [5]1CO2]

Q.3 (a)What do you understand collaborative process in SCM? Briefly discuss concept

of Collaborative Planning, Forecasting, and Replenishment (CPFR). [5]- [CO3]

(b) Conduct a comparative study of efficient and responsive supply chains with
suitable examples. ' [5] [CO3}

Q.4 (a) What do you understand by inventory control? Discuss in detail various
functions of inventory. : : [5]1 [COA4]
(b) Factory uses annually 24000 units of raw material which Costs Rs 1.25 per
unit. Ordering cost is Rs 25 per order and carrying cost is 6% per'year of unit

price. 'Find EOQ and total inventory cost including cost of material. The factory

works for 320 days a year. If the procurement time is 10 days find ROL, the
maximum and average inventories. [5] [CO4]

Q.5 (a) ‘Decisions on transportation modes are crucial to organization’. Explain: What
are the various factors affecting the freight cost? [5] [CO5]
(b) Discuss the different networks in transportation services. [5] [CO5]




Q.6

Q.7

u3
h of ¢ fa
‘Perform: : system tracks the health of supply chain o
(a) ‘Performance measurement systel 5 Y1608

company’. Explain,

. ; : ety ly chain
(b) Explain what is benchmarking and its role in achieving supply

51 [CO5
competency. ~ iy i {ati [h]j [s witgn
(a) “Proactive business organizations rely on building S?ong re atl:::lls ; kimgmg
ks oA o by o : this statement focussing
their customers.”  Critically analyse [ 5] [CO6]

customer expectations. ; b
(b) Elucidate the concept of CRM. Discuss vartous techn
efficient CRM

ologies employed for
(51 [CO6]




IIT Semester EMBA (DSM)
End Term Examination ' Nov/Dec. - 2023

Course Code - EFM-06 Futures, Options and Risk Ma nagement

Time: 03:00 Hours . Max. Marks: 50

Instructions: Attempt Any five questions. All questions carry equal marks.

Assume suitable missing datn, if any. Use of Scientific calculator and tables are

allowed.

Q1. (a) Suppose that the standard deviation of quarterly changes in the prices of a
commodity is Rs. 8, the standard deviation of quarterly changes in the futures price
on the same commodity is Rs. 10, and the coefficient of correlation between the two
changes is 0.8. What is the optirﬁal hedge ratio for a 3-month contract? What does it

mean?
(b) "selling a call option is identical to buying a put option." Do you agree? Explain.

(6+4=10M] [CO1]

Q2. (a) You would like to speculate on the rise of certain stock; you have Rs. 7000
to invest. The current price of the-stock is Rs.40. A 3-month call with a strike price
of Rs. 45 rupees costs Rs.7. Identify two alternative investment strategies, one in
the stock and the other in an option on the stock listing out the potential gains and

losses from each?

1of3

hhE&
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) Does a pcl’fl‘cl hedge always succees o T tice
- go always s i
> @® \ i\ d in locking in the current spot p! ice

of an asset for a future transaction? Explain your answer
n plainy swe
)

(5+8=10M] [CO2]

S:d(::‘:lu:::;:‘:;: M"T"h ﬂt“ option to buy a share for $50 costs §2.50 and is
. or what circumstances will the holder of the option make &
I.‘mﬁl'( Pndcr what circumstances will the option be exercised? Praw a diageam
l“\.mratmg how the profit from a long position in the option depends on the stock
price at maturity of the option.

3.month

(b) The price of a non-dividend-paying stock is §19 and the price of

European call option on the stock with a strike puice of $20 i §1. The risk-free rate
is 4% per annum. What is the price of a 3-month Curopean put option with a strike
price of $20?

[5+5=10M] (co2l
Q4. You believe that the price of & stock will increase in‘near future. Briefly
discuss all the strategics that you can use in this situation.

{10M] [CO2)

Q5. Call optionson 2 stock are available with strike prices of $15, $17, and $20, and
expiration dates in 3 months. Their prices are $4, $2, and $2, respectively. Explain
how the options can be used to create 2 butterfly spread. Construct a table showing
how profit varies with stock price for the butterfly spread. Also show
grephically.

your answer

‘[1oM] (€CO2)
20f3

th & 0

[Eal

suppose that the G-month, 12 month, 18 - month, and 24 - month O1S 7¢t0

Q6.
rates (with continuous compmmd'mg) are 3.8%,

- month LIBOR rate is 4%

4.3%,4.6%,3nd 4.15%, (cspcc&'\ve\y .

with with semiannual

Suppose further that the 8ix

4 LIBOR rate for the period between 6 and 12 months is
nding. The forward LIBOR rate for the period
ding. Compute the forward

compounding. The forwar
594 with semiannual compou between
12 and 18 months is 5.5% with semiannual compoun

LIBOR rate for the 18 - to 24~ month period. Given the two-~ year swap rate is

5%.
{10M] [CO3)
Q7. Explain with suitable examples how floating/fixed assets/liabilities can be

teansformed.
[10M] (CO3}

30f3
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COURSE CODE EIT 07 COURSE TITLE E-Governance

\Time: 3 Hours Max. Marks: 50
‘Note: Question 1 & 2 carries 10 marks sach with choice in Q#@Si‘-g@i’*
- No 2 (Part A). :
- Rest questions (3 to 7) carry 10 marks each (Part B) o
~ Attempt both questions of Part A and any 3 out of Part B.aiss
Part A (Attempt two question, choice in Q 2)
Explain the relationship between emerging technologies and public policy with

focus on digital payment system like UPI with linkages to unique identification
Aadhaar. What are the challenges and security risks for such payment system
while scaling up for developing and highly populated country like India.  [10]

in terms of assessment visualisation of digital maturity and beneficiary’s maturity
by comparing with three other E-services in Indian context. 107

Or

fatd Q_cnlor\f -"‘pnfnrﬂ ﬂ_pi"_ﬁf\'tiﬂf\' S1o0ess Armr\k1]o M ANAaYr corvrinoaa
S£IeCt IaCisYs 228l g SuCCLess S MGoIS 3£ 28

on categories like socio economic factors, government regulation, existing level
o of ICT advancement, payment ecosystem, potential demand supply etc.
[10] ' ‘




Q.3

Part B (Attempt any Three) 243

Discuss the environmental factors- social, political, legal and environmental
context, influencing the adoption of E-Governance in India taking Aadhaar class
case study as reference point.

[10]

Q.4 Discuss the rationale and utility of PPP in an E-Governance project, from the

Q.5

Q.6

perspectives of ‘sharing of risk, strategic control and aspirations’. Evaluate the
performance of any E-governance project executed on PPP mode. [10]

Formulate and apply the criteria for measuring E-Governance success .in the
overall assessment framework of service maturity level with suitable examples.

[10]
Discuss the role of government in leveraging E-Governance in India by suitable
ICT adoption by quoting success stories of few mission mode project of |

Central/State Governments. [10]

Q.7 Discuss the principles, approach and methodology of implementation of E- Kranti

as a tool to achieve final seamless stage of E-Governance. Critically examine its

[10]

overall outcome.
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Q.1 Explain the Market Approach to Business Valuation by elaborating on key
considerations to be used while using Market Approach.

a) Explain the ‘Comparable Transaction method (CTM) and key issues/
b ) considerations ( any 5) to be looked into in CTM along.
b) What are the steps to be followed in CTM method?

N - A 4

-y s

[5+5+5] [CL 7]

' Q.2 Matrix Limited had set up a project 4 years ago. The project has a
remaining life of 6 years. The cash flow forecast for the balance life is as

follows:

6
Year 1 2 3 4 5 |
Cask flow forconst. 30 35 45 50 30 25 |

(T f2i:urilliorn)

Pagelof2




=49

o T salvage value of the project if terminated immcdiatcl){ -is 1.15120
million. A third party has offered to buy the project for Rs175 million in .
* The discount ratc is 10 pereent.
What should Matrix decide ?
[5](CL 4 #]

OR

Q.2 Give any 5 Requirements for a Good PPP project explaining the
requirements with examples where suitable

[S][CL 3 #]

Q.3 Futura Limited is considering a capital project about which the following
information is available. |
.. The investment outlay on the project will be 'RsZOO' million. This consists
of Rs150 million on the plant and machinery and Rs 50 million on net
working capital. The entire outlay will be incurred in the begiming.
. The life of the project is expected to be 7 years. At the end of 7 years, t-'lxed
assets will fetch a net salvage value of Rs 48 million whereas net working
- capital will be liquidated at its book value.
. The project is expected to increase the revenues of the firm by Rs250
~million per year. The increase in costs on account of the project is expected
to be Rsl00 million per year (This includes all items of cost other than
depreciation, interest, and tax). The tax rate is 30 percent.
. Plant and machinery will be depreciated at the rate of 25 percent per year
as per the SL method.
(a) Estimate the post-tax cash flows of the project.
(b) Calculate the IRR of the project.

[S+ S][CL 4 &S5 #]

Page 2 of 2
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structure of 60 percent equity and 40

4 a . : ,
Q4 2) Rao Corporation has a target capital

; Percent debt. Its cost of cquity is 18 pereent and its pre-tax cost of dc‘bt :S
I3 percent. If the relevant tax rate is 35 percent, what is Rao Corporation's
9 WACC?

Q4

b i

b) Unix Limited's equity beta is 1.2. The market risk premium is 7 percent

\ and the risk-free rate is 10 percent. Unix has a debt equity ratio of 2:3. Its
pre tax cost of debt is 14 percent. If the tax rate is 35 percent, what is the
b WACC?
3 [5+ 5][CL 6&7 #]
§
s Q > The balance sheet of Swaraj Limited at the end of year n (the year which is
~ Just over) is as follows:
i Liabilities \ssetls « g millhioasy
!9 Share capital 5 ‘ixed assets 11
Rcservr:;s and surplus 4 «nvestments 0.5
% Secured. loans 4 Current assets 115
Unsecured loans 3 " Cash 1
X Current-liabilities 6 Receivables 4
J Pravisians 1 Inventories 6.5
) = =

. The projected income statement and the distribution of earnings is given below:

(T in millions)

Sales 25

Cost of goods sold 19

s Depreciation 1.5
Y Profit before interest and tax 4.5
= Interest 1.2
_ Profit before tax : 33

s Tax 1.8
e Profit after tax 1.5
Dividends 1.0

] Retained earnings 0.5

I
) During the year n+ 1, the firm plans to raise a secured term loan of Rs1 million, |
repay a previous term loan to the extent of Rs 0.5 million. Current liabilities and
provisions would increase by 5 percent. Further, the firm plans to acquire fixed
) assets worth Rs1.5 million and raise its inventories by Rs0.5 million. Receivables

)
Page 3 of 2



<5)
are expected to increase by 5 percent. The level of cash would be the balancing
amount in the projected balance sheet.

Given the above information, prepare the following:

) Projected cash flow statement
(i) Projected Balance Sheet

(5+ S][CL 8&9 #]

Q 6 a)

Elaborate on any 5 benefits of PPP using the
e Delhi Aiport PPP model or
e Agra express way model

Answer in 150 — 200 words

Q 6 b)

Elaborate on any 3 drawbacks of PPP using the Sasan UMPP or Mundhra UMPP
project or Lanco Anpara Projects

Answer in 150 — 200 words

[5+ S][CL 2 #]

Page 4 of 2
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ii. Wri
co:‘lrteespzr:ldisr?L query to display a list of all students with thEr
firstn g course names. The output should include the student's
ame, last name, and the course name.
Table. V: Students

StudentID | FirstName | LastName CourselD
201 Ajay Singh 301
202 Yug Kumar 302
203 Dinesh Jain 301
204 Sumit Dravid 303

Table. VI: Courses
| CourseName ] Instructor
| Mathematics | Dr. Jay
English Literature | Dr. Sahi
Computer Science
[b] Let, you want to test its effectiveness of a newly de
platform in improving student test scores. The expected
improvement using traditional methods is 15 points. Afler implementing
the new learning platform in a pilot study, a sample of 35 students shows
an average score improvement of 18 points with a standard deviation of 5
points. To assess the effectiveness of the new learning platform, you decide
to perform a z-test. Perform the following tasks: Formulate the null
hypothesis (HO) and the alternative hypothesis (H1). Calculate the z-test
statistic based on the sample data. Make a decision on whether to reject or
fail to reject the null hypothesis. [The critical z-value for a 95% confidence

level in a two-tailed test is approximately +1.96] [1+2+2] [CO2]

[[CourseID
301

veloped online learning
average score

5[a] Let, you're given the task of segmenting guests based on their spending
patterns using k-means clustering. The data consists of amounts spent by
guests in two categories: dining and spa services. The spending data is
represented as points: (2,3), (4,5), (6,7), and (8,9), where each point (x, y)
indicates spending in thausand of rupees on dining (x) and spa services (y).
Your goal s to classify these guests into two clusters (k=2) to understand
their spending behaviors. Perform at least one iteration of the k-means
algorithm on the given guest spending data with the initial centroids @3)

~ and (6,7). [1+1+1+1] [CO2]
[b] Discuss the effect of initialization of cluters centers in #-means algorithm.
Also, describe smart initialization with #-means++ algorithm. [2+3] [CO2]

—Best of Luck-—-

[ SEBsbbdaac

Total No. of Pages: 04

W v N v

g O G T ¢

ROUNO. o
EMBA

THIRD SEMESTER

END SEMESTER EXAMINATION

Time: 3:00 Hours

Nov-Dec, 2023

EIT-11 DATA ANALYTICS
Max. Marks: 50

Note: Answer ALL questioris.

Assume suitable missing data, if any. .
CO# is course outcome(s) related to the question.

1[a] Consider yourself as a dal

[b]

2. Answer any TWO of the followings
[a] Suppose, you are analyzing customer pu

ta analyst in the XYZ Corporation. The
corporation is facing significant challenges in market segmentation and
customer retention. The managmnent of XYZ asked to analyse the problem
and give the solution. Explain basic six steps of the data analytics in the

context of above problem. [5] [CO2]
Analyze the following five business cases. In each case, only one type of
thinking is predominantly required: analytical thinking, critical thinking,
creative thinking, or versatile thinking. Identify and justify (Maximum
THREE sentences) the type of thinking most suitable for each case.

Case I: A technology firm is facing a decline in sales due to emerging competitors. The firm needs
to analyze sales data, market trends, and competitor strategies to identify the root causes of the
decline and potential areas for improvement.
Case II: An advertising agency has been taske
in the market. The agency needs to come up with an
that differentiates the product from its competitors.
Case 1II: A healthcare company is deciding whether t
The decision requires a thorough examination of the ris|

ethical, and operational impacts.

d with rebranding a product that has been struggli_.ng
innovative and unique marketing campaign

o invest in 2 new line of medical equipment.
ks and benefits, including potential financial,
[5] [CO2]

rchasing behavior for a new line
of personal care products. The marketing team has provided you with data
from a recent promotional campaign, which includes information on 20
customers. The dataset consists of the following two variables: Age:
Customer age in years, Gender: Customer gender, Purchase Amount:
Amount spent on products, Coupon Used: Whether the customer used a
promotional coupon, Number of Purchases: Total number of product
purchases during the campaign. The sample data (20 customers) for Age
and Coupon Used are given as: [1+2+1+1] [CO2]

[52, 63, 24, 43, 45, 41, 32, 46, 38, 39, 36, 40, 10, 34, 24, 33, 40, 39, 45, 35] and [No, No, No, No,
Yes, Yes, No, Yes, No, Yes, No, Yes, No, No, No, No, No, No, Yes, No].

yatA
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i. Identify the da ‘

™M il Calculyt it data type for each of the variables listed.
ii.i Det ate the mean and sample standard deviation for the Age variable Table, IT: House Sales Data -
Determine the mode for the Coupon Used variable, : 1—4‘0—| : '-.23-0
mlﬂl

iv.Discuss the implicati i
ons of your findings to the i i
s - Imp 1 S promotional campaign. ‘ .
Limit your justification to no more than four sentences. & B T hcor;(duct; :meaf reg‘t'f;:“’“
tial checks or data preparation.

House ID

Selling Price
i. Outline the steps you would un

(b1 As a climate data analyst, you are stdying ¢ i i analysis on this data, including any ini
average monthly temperatures and nvcragg 1n%m(l;ﬁyr:z]\?xlllfox\ll’ls]i]tzpn [;?c‘flcﬁz ii. Pred)i,ct the nature of the relationship (positive or negative) bet.ween
region over a period of one year. The following table presents the observed house size and selling price based on the given data, and provide a
e 5] |CO2] rationale for your prediction.
fication problem using the K-

[b] You are a Data Analyst working on a classi
You have a small dataset of

Table. I: Climate Data
LMonlh Jan | Feb | March | Apnl [ May | June | July | Aug | Sep | Oct | Nov Dec | Nearest Ncighbors (KNN) algorithm.
Temp [15 |16 [18 20 |22 |25 |26 |28 4|20 | 18|16 | = : ¢ heir i levels: High
Rain | 200 180 | 160 | 140 | 120 | 100 |80 |60 |90 | 110|150 | 190 | individuals categorized into two groups based on their income levels: Hig
3 . (H) and Low (L). The dataset, along with two features - Age and Savings
i. Calculate the covariance between the average monthly temperatures and (in thousands), is as follows: [5] [CO1]
Table, 11I: Income Classification

the average monthly rainfall.
ii. Compute the correlation coefficient to assess the strength and direction
of the relationship between these two climate variables.

[c] ‘As a data analyst for a consumer electronics company, your role involves
analyzing the sale prices of a flagship smartphone model over the past year.
You have gathered a sample dataset that represents the sale prices of 22
units. The data (in thousands of rupees) is as follows:
[35,37,34,36,38,35,34,32,36,37,35,33,34,3l,39,37,75,36,35,34,33,3835,3
7,34,36,38,35,34,32,36,37,35,33,34,31,39,37,75,36,35,34,33,38]

i. Given the characteristics of this dataset, determine whether the range or
the interquartile range (IQR) is a more suitable measure of data
dispersion. '

ii. Justify your choice by explaining how the selected measure provides a
clearer understanding of the variability in the smartphone's sale prices.
Limit your justification to no more than five sentences.

iii.Calculate the chosen measure of dispersion and interpret how it reflects
the sale price trends of this smartphone model, considering the presence
of an outlier in your dataset. [5] [CO2]

3. Answer any TWO of the followings

[a] As a Data Analyst in a real estate firm, your objective is to analyze the
relationship between the size of houses (measured in square meters) and

their selling prices (in lakhs of rupees). You have been provided with a

dataset detailing recent house sales in a specific locality, which includes

the following data. [5] [CO1]

4[a] Consider the following two database tables representing

| 30
Savings | [ 30 | 25
[pmee e o L 2 ]
Your task is to classify a new individual (Individual 7) with an Age of 26
and Savings of 18 into the correct income level using the KNN algorithm.

Using K=3, determine the three nearest neighbors to Individual 7. Based
on the income levels of these three nearest neighbors, predict the income

level of Individual 7.

Tndividaal [ 1 ] 2 [ 3 | 4 ] 5 [ 6]
Age | 25 2z | 35 | 28 | 32 |
15 10]]35[20[

[c] Suppose, you are working on a project to understand the relationship

between the number of hours studied and the scores obtained in a test. You
have collected data from a group of students which is presented below:
Table. IV: Study Hours and Test Scores
’ Student A B [] D E
Hours Studied 2 &) 4 S, 6
[Test Score 50 |60 |70 |8 [90
Perform a simple linear regression analysis with 'Hours Studied' as the
independent variable and 'Test Score' as the dependent variable. Based on

[51[C01]

your analysis:

i. Write the linear regression equation.

ii. Predict the test score for a student who studies for 7 hours.

information about

employees and departments in a company. [3+2] [CO1]

i. Identify and label the primary key(s) and foreign key(s) in each of the
two tables and explain the basis for your choices.
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Time: 03:00 Hours
Note: All Questions carr
following,

Max. Marks: 50
any 5 questions from'the

Yy equal marks. Attempt

Q.1  What can be the'.yariogi's', St;a}égiés “to manage confj:i'ct 1n the -
organisation. Explain with appropriate examples ' - [10][CO2,4) ~
Q.2 Discuss the role of attitude surve

the employees at work, Su
theories of motivation

ys and exit interviews in motivating
bstantiate your answer with appropriate

[10]{CO35}

Q.3 “Organisational control interferes w

ith the freedom of organisational
members.” Comment

[10][CO3,4)
Q.4

In a global business context, how do cultural intelligence, emotional
intelligence and adaptability contribute to one’s effectiveness as a
team member. Explain in context of Big Five’ personality traits.

, . [CO1,4]
- Q.5 In a managerial role, what strategies can be applied to balance
maintaining stability (unfreezing) and driving innovation (changing)

_in the team/organisation. [10][CO3]
Q6. “Management is a distinct process, consisting of planning, organising,

. actuating and controlling performance to determine and accomplish
objectives by use of people and resources”. In light of the' statt?ment,
explain the meaning and function of management. State in brief the
significance of management. [10][CO2]
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[ Note: Attempt any Five questions
All questions carry equal marks,

1. Attempt any two of the following:
a) For what kind of product/service category,
of promotional mix is more suitable?

b) What is environmental scanning? How does marketing environme
- analysis help marketing strategy formulation?

personal selling as an element
{PO1}
nt

{PO1}
c) “Marketing is all about creating mind share, wallet share and market
share”. Comment? {PO2}

- Nestle India, a Swiss multinational, has recently extended its brand a+ into
millets based Ready to Make (RTM) market. The company has introduced
a+ masala (spice) millets containing bajra (pearl millet) in the select market
of NCR and online. The brand extension is in line with the GOI emphasis on
millets as a sustainable food option. The brand is offered in two variants:
Tangy tomato and Veggie masala. The multi serve pack of 240 gm is offered
at a price point of Rs.175 while the single unit pack of 40 gm is available at
Rs. 30. The a+ promises to be rich with high fibre, lower calorie and free
from added preservatives developed to deliver both taste and health benefits.
The Indian Institute of Millets Research (IIMR) has provided the requisite
technical support to develop the product. Both Nestle and IIMR. are very

excited about the millets as a superfood and its ability to provide high
nutritional benefits to the consumers.

Develop a suitable communication/promotion campaign for the above brand
in terms of creating suitable mix of owned, eamed and paid media.

(PO2)




|
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3. “Positioning connects brand offering with target market”. Explain citi
examples one ench from FMCG industry and service sector. Also pre
successful case of repositioning of a brand in recent times.

4. Differentiate between product extengion and brand extension with sui
examples. What strategic framework would you like to suggest to a pr
{

which is in introduction stage of its life cycle?

5. “A strong distribution channels provides sustainable competitive advar
which a competitor cannot copy easily in short run”, Comment. {F

6. What is pricing threshold concept? Give a recent example of a brand, v
according to you have resorted to “pricing competition to capture valzl;

Justify your choice.
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Note : All questions are compulsory.
All questions carry equal marks.
Assume suitable missing data, if any.

B Total Ho- of [age, — | - Retl ‘No- —
> | First SEMESTER
B.Yech./D.0es/BBRA/BAE/M.Sc./M.Des./M.Tech/MBA/Ph.0/ B.Tech. (Eve) R |
b END TERM EXAMINATION - Nov-2023
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N

Q.1 Define:
~ a) GDP .

b) GNP .
" ¢©) NNPsc : :

d) Factor Incomes

e) Net Factor Income from Abroad [2*5=10] [CO1]

Q:2 Attempt both parts:
a. Define the functions of RBI .
b. Define increasing returns to scale. [5*2 = 10][CO3]

Q.3 Define Law of Variable Proportions ) [10] [COZ]

Q.4 Define three different elasticities of demand with appropriate

examples.
[10] [CO4] v
Q.5 Define: ™ =
a) Explicit costs
b) Implicit costs
. c¢) Fixed costs _ 3 -
= O e d) Variable costs [2.5*4=10] [CO2 & 5]

~
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Note: Answer any FIVE questions,
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Use of Statistical Table i5 permitted,

1. Convert the Following LPP into Dual Form [10](CO1)
Max  z=4x +2x, +3x, +35x,
Subject to 4x, —6x, - 5x, —4x, > 20 -
3x, +2x, —4x,-x, 210
—8x, —3x, +3x;, +2x, =20
X, Xy areunrestricted,and x,, x, > 0.
- Q2. A manufacturer wants to éhip 26 loads of his product as
shown below. The matrix gives the kilometres from sources of
supply to the destinations. The shipping cost is Rs. 10 per

kilometre. Find the optimum shipping schedule and 1ptal
minimum transportation cost. - [10}(C0O2)

TD1[D2[D3[D4 D5 | Supply
1 518 |6 |6 |3 |9
52 4 (7 |7 |6 |5 |8
83 8 |4 (6 |6 |4 |9 “
Demand[4 616 |6 8 : I
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Q3. A marketing manager has five salesmen and five sales
< districts. Cionsidering the capabilities of the salesmen and the
%3\ natulje of districts, the marketing manager estimates that the time

required for each salesman in each district would be as follows:

[10)(CO3)

Districts
A lB |[C |D |E
32/38|40|28 |40

Salesmen | 1

2]40|26|28]21|36
3|41|29|34(32(37
4|25|38(42(38]|35
5/29]33|40(35(39

Find the assignment of 'salesmen in the different districts to
minimize the time required to visit these five districts.

4. Find the shortest path of the network shown in the following
Figure using Dijkshtra Algorithm. [10](CO4)

5. (a) What do you mean by hypothesis testing? Explain the
terms Type-l & Type-ll errors. [51(CO®6).

aims that its rechargeable batteries are
f more than 1500 charges. A random
life of 1505 charges and a
gh evidence to support

(b) A manufacturer cl
good for an average 0
sample of 100 batteries has a mean
standard deviation of 12. Is there enou
this claim at o= 0.01? [5](CO6)
6. Write the Notes of the following topics: - [5%2=10]
(a) Primal and Dual Form of Linear Programming (COo1)

b) Degeneracy in Linear Programming (CO1)
Ec; Transportation and Assignment Prqblems (CO2)
(d) Correlation and Regression Analysis (CO5)
. - —
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NOTE: Answer any five questions. All questions carry equal marks.
Assume suitable missing data if any. .

Q1. The monthly demand for a product for last 6 month is as follows.
Month | Jul Aug Sep Oct Nov Dec
Deémand | 5300 4900 5400 5700 6300 6000-

What would be forecast for January next year using single exponential -
smoothing? The smoothing constant is 0.3 and the forecast for the
month of July was 5000 units. Calculate MAD, and MAPE for this
forecasting method. ’ [CO1,2,3][10]
Q2. A certain item costs Rs 235 per ton. The monthly requirement is 5
tons and each time the stock is replenished, there is a setup cost of Rs.
1000/. The cost of carrying inventory has been estimated at 10 % of the
value of the stock per year. What is optimal order quantity? If lead time
is 1 week, determine the reorder point in terms of quantity.
[CO1,2,3][10]
Q3. What are competitive priorities? Why a trade off is necessary
between different competitive priorities? Explain how a firm can
compete on the basis of cost with specific reference to its operations.
You may use an example of consumer goods company for explaining
the answers. [CO1,2,3][10]
Q4. Product A is-made of 3 units of B and 2 units of C. B is made of
two units of D and 3 units of E. C is made of 2 units of D and 2 units
of F. Lead time for A is one week, B two weeks, C three weeks, D two
weeks, E one week and F two weeks.
(i) Draw the bill of materials.
(i1) If 100 units of A are needed in week 16, develop a planning
schedule when each item should be ordered and in what
quantity? [CO1,2,3][10]




36)

Q5. Describe the push/pull views of a supply chain. Discuss the
scenarios in which Push/Pull or combination of both may be utilized.
Consider the purchase of a can of a soda at convenience store. Describe
the various stages in the supply chain and the different flows involved.
[CO1,2,4] [10]
Q6. (a) What are the key advantages and disadvantages of chase
strategy and level production strategy? Compare them for an

mlmn‘ml)ile manufacturing company like Tata Motors. [CO1,2] (5]
(b) Discuss the role of seven quality control tools in the productivity of
a manufacturing organization. [COl1,2] [5]

Q7. Write the short notes on any four of the following.
(i)  Product layout Vs. Process Layout
(ii)  Just In Time
(iii) Cost reduction Vs. Customer service
(iv) Material Requirement Planning (MRP)
(v) ABC/VED analysis
(vi) Qualitative Forecasting [CO1,2,3] (10]

-END-
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Note: Anawer any five qlfcs}ions. '
Assume suitable missing data, if any,

Q 1.Explain the purpose of the following Excel shortcuts: Ctrl+V/, Ctrl+0,
AItHH, CHrl+S, Cirl+C, Crl+V, Ctrl+Z, Ctrl+X, Alt+N, Ctrl+B.  [10]

Q 2.(a) Differentiate between absolute and relative referencing in Excel.
Ilustrate a scenario where using absolute referencing is crucial and
explain why. :

(b) Explain the purpose of the Excel functions such as LEFT, RIGHT,
MID, LEN, SEARCH, CONCATENATE, UPPER, and LOWER in
Excel. [10]

Q 3.For the given table 1, using INDEX and MATCH functions, create a
formula to retrieve the emails based on the Emp ID provided in a
separate table in another excel sheet. [10]

Q 4.What are pivot tables. For a given table 1, describe a scenario where
you might use a pivot table with this employee data. What would be
the row and column labels, and what kind of information would you
summarize? [10]

Q 5. For the given table 1,

. () Suggest a suitable chart type to represent the distribution of

' employees across different departments. What columns would
you select for the chart data?

(b) Why might it be important to protect certain columns, such as
"Emp ID" or "Hire Date," from accidental changes? How would
you apply worksheet protection in Excel? [10]

Q 6.(a) Outline the specific steps you would take to record and run a
macro to automate the repetitive tasks such as formatting, sorting, and
filtering in given table 1.

ROUND..svoener 3(2



3 63 (b) Discuss the role of the SUBTOTAL futction ins‘malysi;
. Provide examples of when you v_voqld use anc
COUNTIFS functions and their significance i geﬂe’??g]&

meaningful reports.

Q7. What is IBM SPSS. Explain it various measurement scale. Write step:

to choose Statistics and graphs based on the data. (10]
Table 1 : s

Emp D Last Name FirstName. Dept  E-mail - Phone Ext Location Hire Date Pay Rat
11054 | Smit Howard | AT | howards | 148 |Building 1] 16-Apr-91]$ 11.2
1056 | Gonzales Joe AT }OEQ 121 Building1 25-Cct-79 | § 12.2¢
1067 Scote Gail AT | gails 123 Building 1] 20-Sep-87] § 14.58
1075 | Kane Sheryl | AD | sherylk | 126 |Building 2| 07-Aug-92| $ 11.2
1078 | Hapsbuch | Kendrick | AC |kendrickh| 101 | Building 2| 01-Apr-86 | $ 10.2C
1152 | Henders | Mark | AD | markh 118 |Building 2 21-Jan-90| § 12.25
1196 | Atherton Kaie | HR | katiea 280 |Building 3| 01-Apr-98 | §  9.95
1284 | Bewood | Frank | MK | frankb 124 |Building 1) 04-Jan-85 § 12.30
1290 | Cooper | Linda | AD | findac | 113 |Buikding2|03-Jan-85|$ 13.25
1293 | Cromwith Brent | HR | brentc 205  |Building 3| 14-Sep-84| § 10.20
1299 | ‘Simpson Sandrae | MF | sandraes 17 Building 121-Dec-89| § 12.20
1302 Sindole Randy MK | randys 139 Building 1| 06-Aug-84 | § 1 _
1310 | - Smith Ellen MF ellens 137 Building 1| 04-Cct-86 | § 11.50
1329 Vuanuo Tuome | AC | tuomev 151 Building 2| 22-Feb-89 | § 10.35
1333 | Szcznyck Tadeuz HR | tadeuzs 122 Building 3| 16-Apr-90 | §_ 10.15
1368 Wu Tammy | AD | tammyw 132 Building 2| 11-Mar-83 | § 12.25
1509 |- - - Kegler Pam | AT pamk 135 Building 1 [ 19-Jun-85| § 13.25
1516 Bell Tom AC tomb 105 Building 2 {06-Mar-85{ §  9.50
1529 | Kellerman Tommie | MK tomk 129 Building 1]28-Jan-87 | § 11.30
1656 Kourios Theo MF | theok 149 Building 1|14-Dec-87| § 12.35
1672 |Dixon-Waite| Sherrie MF | sherried 114 Building 1| 16-Apr-90 | § 11.90
1673 | Boughton | Frank | AD [fboughton| 112 |Building 2|25-Mar-92| § 11,85
1676 Miller Janet MK | janeim 115 Building 1] 26-Oct-81 | § 10.75
1721 Alstain Isolde HR | isoldea 102 Building 3| 06-Aug-90| $ 9.75
1723 | Sammier Mark | MK | marks 145  |Building 1] 10-Feb-78 | § 13.95
1758 Brwyne Melia AC | meliab 107 Building 2| 18-Mar-82| § 11.20
1792 Barton Eileen AT | eileenb 1 Building 1 [24-Dec-90| $§ 10.30
1814 Al-Sabash Daoud HR | daouda 103 Building 3 [04-Mar-89 | § 12.25
1908 Zostoc Melissa AT | melissaz 152 Building 1 [ 15-May-84| § 10.25
1931 Mueler Ursula AC | ursulam 110 Building 2| 20-Jun-89 | § 9.85




Total no. of pages: 03

llllllllllll

THIRD SEMESTER
M.B.A. (%,
END TERM EXAMINATION =

Nov-2023
EMBA301: STRATEGIC MANAGEMENT

Time: 3 Honrs

———e

_ I T P o e O e Max Marks: 50

Note; All. questions pre compulsory, Assume suitable missin data,if any, |
QI. Write True/False/ fill in the blanks/
per the question. [Each part: 1 Mark) [10] [CO1, CO2, CO03, Co4, COs5]
[i] Well-conceived visions are

. | and to a particular organization
and they avoid generic, feel-good statements that could apply to hundreds of
organizations (a) wides

pread; unique (b) recurring; customary (c) distinctive;
specific (d) customary; familiar

give short answers/choose begt option as

[ii] As per Porter’s Generic Co
Products® is a characteristic of
Strategy/Cost Leadership Strate

mpetitive Strategies Framework, ‘Standardized
----------- [Differentiator Strategy/ Focused Cost
gy/ Focused Differentiator Strategy]

[iii] Strategic Alliances last long if they have

----------- agenda [Options: Global/
Extractive/Venturing/ Local

[iv] When strategies fail, it is often because of (a) poor execution of the s_trategy (b)
shortfalls exposed with the strategic management design process (c) inadequate
support for the management team responsible for the planning process.

[Vl As per Ansoff’s ‘Market X Product Expansion’ matrix, the recommended
strategy for ‘New Markets’ and ‘New Products’ is -----c-eeeee--- .

[vi] ‘Beat a competition’ is a characteristic of (a) Blue Ocean Strategy (b) Red
Ocean Strategy (c) Flowing Stream Strategy

[vii] The strategic options for expansion intp fgreign me.lrket-s'do not include (a)l
relying on home country governments to res_tr}ct imports via raising tariffs and lo.ca
content requirements (b) establishing a sut?51d1ary in a foreign market (c) employing
a franchising strategy using local ownership.

(WK
N
=
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viii] When t i
[viii] he pressure for local responsiveness is high and pressure for cost

reduction is low, the recommended § W
* stratepy is oy
(¢) International (d) Global slundnrdim\i«mm s () Localization (b) Transnationdl

I\N While most other brand yeused on i v en's c N S
s focus rati i
d on innov ating in women’s slothin y Bonabo

focused on clothin wh 1 to its & ess, 1 stratepy ado ted by
ocus on men s th which le
" £ d to its success. ¢ S L, ple )

[X] P&G, the maker of Folgers and Millstone coffee, worked with coffee appliance
mak?rs Mr. Coffee, Krups and Hamilton beach to market a single serve coffes
m.akmg' system called Home Café. This is an exmple of (a) Franchising (b)
Licensing Arrangement (c) Value chain partnership (1) Mutual Service Consortium

Q2. Explain any 3 of the following in brief:

[Each part: 5 Marks] [15] [€01,C02,CO0]

[i] ‘Re-engineering’ OR *‘Re-structuring’ strategic action with an illustrative
example

[ii] Any three options for entering and competing in international markets supported
with examples

[iii] ‘Integration’ strategic option with two examples
[iv] Any 3 Principal Offensive Strategy Options with examples

Q3. “Inadequate strategy formulation may cause challenges during strategy
implementation” Do you agree or disagree with the statement? Support your
answer with arguments and example. [5] [CO4]

Q4. Explain significance of Competitive Profile Matrix in the context of Strategic
Analysis. Based on your perception, prepare a competitive profile matrix for your
(or any other) organization and its two major competitors. Include six factors.
Justify weights given to any of the two factors. Justify ratings given to these factors
across the 3 organizations as per your understanding / assumption. Based on your
analysis, bring out two strategic recommendations for improving competitive
position of your (or chosen) organization. [10] [CO1, CO2]

OR

Prepare Internal Factor Bvaluation (JFF) and External Factor Fvaluation (EFE)
Matrices for your (or any other) organization. Include five factors. Justify weights
plven to any of the two factors in IFF Matrix. Juatify ratings given to these factors
In TFIL matrix aa per your understanding/ assumption, Based on your analysis, bring
out (wo atrategic recommendations for improving competitive position of your (or
chosen) organization.
(5. Wrlite short Notea on any two (Limit your answer to two pages for each part) ©
(10} [CO2Z, CO6]
(i} ‘Diamond Framework' framework in the context of strategizing for ezpanding
into International markets.
[H] Advantages of decentralized organizational structure in the context of strztegy
execution

[iii] Corporate Value Chain Analysis Framework by Porter

{iv] Mckinsey’s 7 § Framework for introducing change in an organization with
brief explanation of the most important component as per you.
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'Q 'l Choose one company each m the fdllowmg mdustry vertlcals
a) Automobiles

b) Information Technology ‘
Prepare a chart to compare the online marketing mix used by each of the
companies in formulating, shaping, and promoting the online offer,

[10] [CO2]
Q.2 How is online consumer behaviour different from traditional consumer

behaviour? Comment on online segmentation and behaviours that have

changed because of online interactions. [10] [CO3]

Q.3 What is implied by the statement that digital strategy is not about

: : technology? What are its implications, both from the point of view of a

.o s - Company’s top management and from the point of view of functional areas?

T e [10] [CO4]
Q4 Atempt any TWO of the following [5+5]

a) Explain with examples the concept of Online Value. Proposition. [COl]‘

b) The traffic building: goals of any organization should aim at —:
maXllmzmg short-—term/long-term profit, rmmrmzmg cost-per- -action
(subject to volume targets), maximizing actions, subject to spendmg
capacity. Comment | [cO2]

¢) Choose any online food dehvery app and lay out the key criteria of the

six brand elements (Keller s CBBE model) you feel they have used to
develop their brand. building activities.

[CO2]

Q.5 Discuss with suitable exarnples any two of the followmg ‘ [5+5]
ay marketmg gamification [CO1] -

b) search engine optimization [C01]

c) digital marketing revenue models [CO1]
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Q3.

Q4.
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Q6.

Q7.
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Note: Attempt any 5 Questions.
’ All Questions carry equal marks (10 marks each).
Assume suitable missing data, if any. Write your answer

precisely.

Briefly discuss generic process of developing new web port.al of [CO#2]
any organization with an example.

Briefly describe any two of the following terms with an [CO#1]
example each:

‘a. Component Based Development

b. Prototyping methodology

c. Joint Application Design

Discuss Agile methodology of software development along [CO#2]
with the roles, artefacts and its events. )

Briefly describe structured Business Process Management [CO#3]
approach with an example. '

Discuss any five key components of e-commerce platform with [CO#4]
an example each of its function.

Discuss the purpose and key characteristics of Enterprise Data

Warehouse with example. [CO#4]

Discuss the implementation/ depl'oymént strategies of newly [CO#1]
developed system to replace old system with suitable example.
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